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‘mÜ¶‘ : VobwJw>
àíZn{ÌH$m H«$‘m§H$narjm gm§Ho$Vm§H$ 1021

nona gm§Ho$Vm§H$ 701

EHy$U JwU : 150

EHy$U n¥ð> : 32

Adoi : 10:30 Vo 1:00	 ~¡R>H$ H«$‘m§H$

    

g§M

nona I (B. 1 br Vo B. 5 dr)

àíZn{ÌH$m gmoS>{dÊ¶mnydu Imbrb gyMZm H$miOrnyd©H$ dmMm:

gyMZm :-

1.	 narjmWuZo Amnbm ~¡R>H$ H«$‘m§H$ Ë¶m§Zm nwa{dboë¶m àíZn{ÌHo$da {d{hV {R>H$mUr Zm|Xdmdm.

2.	 àíZn{ÌHo$‘Ü¶o gbJ EHy$U 150 àíZ AgyZ Vo gmoS>{dÊ¶mgmR>r C‘oXdmamg 150 {‘{ZQ>o (AS>rM Vmg) doi XoÊ¶mV Ambobm Amho. 

àË¶oH$ àíZmg EH$ JwU Amho. gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

3.	 àË¶oH$ àíZ dñVw{Zð> ñdê$nmMm AgyZ àíZmÀ¶m Imbr CÎmamMo Mma n¶m©¶ {Xbobo AmhoV. Ë¶mn¡H$s CÎmamMm EH$M n¶m©¶ AMyH$ 

AgyZ Vmo Zm|Xdmdm. CÎmao  Zm|X{dÊ¶mgmR>r H$mù¶m qH$dm {Zù¶m ~m°bnoZMmM dmna H$amdm. AMyH$ CÎma Agboë¶m n¶m©¶ H«$‘m§H$mMm 

Jmob nyU©nUo a§Jdmdm. AY©dQ> a§Jdbobo Jmob, ImS>mImoS> AWdm EH$mM àíZmgmR>r XmoZ CÎmao Xe©{dbobr AgVrb Aem CÎmam§Zm JwU 

{Xbo OmUma ZmhrV. EH$Xm {Xbobo CÎma ~XbVm ¶oUma Zmhr.

4.	 H$moUË¶mhr H$maUm‘wio àíZ aÔ H$amdm bmJë¶mg AMyH$ àíZm§À¶m JwUm§da AmYmarV nmÌVm {ZpíMV H$aÊ¶mV ¶oB©b.

5.	 àíZn{ÌHo$V H$moUË¶mhr àíZm§À¶m CÎmamMr Zm|X H$é Z¶o. àíZn{ÌHo$Mo H$moUVohr n¥ð>/^mJ ‘yi àíZn{ÌHo$nmgyZ doJim H$ê$ Z¶o.

6.	 H$ÀMo H$m‘ àíZn{ÌHo$‘Ü¶o Xe©{dÊ¶mV Amboë¶m OmJoVM H$aÊ¶mV ¶mdo.

7.	 CÎman{ÌHo$Mm H«$‘m§H$, àíZn{ÌH$m g§M H$moS> ñdmjarnQ>mda {b{hUo Amdí¶H$ Amho.

8.	 narjm àdoenÌmMr ‘mJUr Ho$ë¶mg g‘dojH$/n¶©dojH$m§Zm XmIdmdo.

9.	 àíZn{ÌHo$‘Ü¶o Imbrbà‘mUo {df¶{Zhm¶ {d^mJ AmhoV.

	 {d^mJ	 {df¶	 àíZ H«$‘m§H$	 JwU

		  1	 VobwJw 	 1 Vo 30	 30

		  2	 B§J«Or/‘amR>r	 31 Vo 60	 30

		  3	 ~mb‘mZgemó d AÜ¶mnZemó	 61 Vo 90	 30

		  4	 J{UV	 91 Vo 120	 30

		  5	 n[aga Aä¶mg	 121 Vo 150	 30

10.	 CÎman{ÌH$m g‘dojH$mH$S>o O‘m H$aVmZm CÎman{ÌHo$Mr Carbonless àV (CÎman{ÌHo$Mm ^mJ 2) narjmWu Zo ñdV:H$S>o R>odyZ Vr 

{‘imë¶m~m~VMr ñdmjar ñdmjarnQ>mda Zm|Xdmdr.

11.	 narjm g§në¶mZ§Va g‘dojH$mÀ¶m gyMZo{edm¶ narjmJ¥h gmoSy> Z¶o.

>12.	 narjmWuZo narjm Mmby AgVmZm AWdm narjm g§në¶mZ§Va narjog§~§Yr H$moUVohr gm{hË¶, H$mJX dJ¡ao narjmJ¥hm~mhoa Zoë¶mg 

Ë¶mMr ¶m narjoVrb C‘oXdmar aX²X hmoB©b.

13.	 narjmJ¥hmV ‘mo~mB©b, ñ‘mQ>© dm°M, H°$b³¶wboQ>a, bm°JQ>o~b, aoS>r aoH$Za BË¶mXr gm{hË¶ AmUy Z¶o.

14.	 narjogmR>r {d{hV Ho$bobr doi g§në¶mZ§Va narjmWug hr àíZn{ÌH$m ñdV: ~amo~a narjm H$jm~mhoa KoD$Z OmÊ¶mg nadmZJr Amho. 

narjoMr doi g§non¶ªV gXa àíZn{ÌHo$Mr àV/àVr qH$dm àíZn{ÌHo$Vrb H$mhr Ame¶ H$moUË¶mhr ñdê$nmV àË¶j dm AàË¶jnUo 

H$moUË¶mhr ì¶³Vrg nwa{dUo VgoM à{gÕ H$aUo hm JwÝhm AgyZ Aer H¥$Vr H$aUmè¶m ì¶³Vrda emgZmZo Omar Ho$boë¶m ""narjm‘Ü¶o 

hmoUmè¶m J¡aàH$mam§Zm à{V~§Y H$aÊ¶m~m~VMo A{Y{Z¶‘-82'' ¶mVrb VaVwXrZwgma H$madmB© H$aÊ¶mV ¶oB©b.

15.	 narjmWuZr nonaMr {d{hV doi gwé Pmë¶mZ§VaM ¶m àíZn{ÌHo$g bmdbobo H$mJXr grb H$mT>mdo. nona gwé hmoÊ¶mÀ¶m {d{hV doionydu 

grb H$mTy> Z¶o.

QR : 701A
Medium: TELGU
Paper Code: 701
Set Code: A
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TELUGU

Mìü…¨ ç³Ç^óþe§æþÐ@þ¬¯@þ$ ^èþ¨Ñ {ç³Ô¶ý² 01 ¯@þ$…yìþ 04 Ð@þÆæÿMæü$ AyìþW¯@þ {ç³Ô¶ý²ËMæü$ fÐéº$Ë$ ç³Æ>ÅÄ¶ý*Ë ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ.
H.í³.gñý. Aº$ªÌŒý MæüÌêÐŒþ$ A° {ç³Ð@þ¬Q…V> í³Ë$Ð@þºyóþ yéMæütÆŠÿ BÐ@þ#ÌŒý ç³MîüÆŠÿ Ogñý @̄þ$Ë½ª̄ Œþ Aº$ªÌŒý MæüÌêÐŒþ$ Æ>Ðóþ$Ô¶ýÓÆæÿ…ÌZ “Mîü.Ô¶ý 1931 AMøtºÆŠÿ 15 @̄þ ç³#sêtÆæÿ$. 
DÄ¶ý$ @̄þ ¿êÆæÿ™èþ§óþÔ¶ýç³# 11Ð@þ Æ>çÙ‰ç³†. {ç³Ð@þ¬Q „ìüç³×ìý Ô>çÜ̂Ðóþ™èþ¢V> õ³Ææÿ$ ´÷…¨ @̄þ MæüÌê… C{ÝùÌZ HÆøõÜµ‹Ü C…f±ÆŠÿV> ç³° ó̂þÔ>Ææÿ$. ™èþ @̄þ ç³#çÜ¢Mæü… ""C…yìþÄ¶ý* 
2020''ÌZ “Mîü.Ô¶ý. 2020 ¯ésìýMìü ¿êÆæÿ™èþ§óþÔ¶ý… AÀÐ@þ– ®̈ ð̂þ…¨ @̄þ §óþÔ¶ý…V> Ð@þ*Ææÿayé°Mìü AÀÐ@þ– ®̈ {ç³×êãMæüË$ çÜ*_…^éÆæÿ$. Ñ$òÜ•ÞÌŒý Ð@þ*Å Œ̄þV> õ³Ææÿ$ ´÷…¨ @̄þ 
Aº$ªÌŒý MæüÌêÐŒþ$ ¿êÆæÿ™èþÆæÿ™èþ²™ø çÜà A ó̄þMæü {ç³†Úët™èþÃMæü AÐéÆæÿ$zË @̄þ$ A…§æþ$Mæü$¯é²Ææÿ$. BÄ¶ý$ @̄þ ™èþ @̄þ Væü$Ç…_ CÌê ð̂þç³šMæü$¯é²Ææÿ$. "" ó̄þ @̄þ$ E§æþÄ¶ý$… ¯éË$Væü$ 
Væü…rËMæü$ °{§æþ Ìôý ó̂þÐéyìþ². Ð@þ* AÐ@þ$Ã E§æþÄ¶ý* ó̄þ² @̄þ @̄þ$² °{§æþÌôýõ³¨. Ýë² @̄þ… ó̂þíÜ r*ÅçÙ Œ̄þMìü ÐóþâôýåÐéyìþ° ó̄þ @̄þ$ r*ÅçÙ Œ̄þ ç³NÇ¢ ó̂þçÜ$Mö ó̂þeçÜÇMìü Ð@þ* ¯é @̄þ² @̄þÐ@þ*gŒýMæü$ 
¡çÜ$Mðüâ¶ýåyé°Mìü íÜ§æþª…V> E…yæþÐéÆæÿ$. B M>ÆæÿÅ“MæüÐ@þ$… ç³NÇ¢ AÄ¶ý*ÅMæü OÆðÿÌôýÓ õÜtçÙ Œ̄þMìü ÐóþâñýåÐéyìþ². Ð@þ${§éçÜ$ @̄þ$…_ Ð@þ ó̂þa ¨ @̄þç³{†MæüË ´ëÇÞÌŒý° ¡çÜ$Mö° Ðésìý°  
ç³…í³×îý ^óþòÜ Ðéyìþ². D Ñ«§æþ…V> ç³° ^óþçÜ$¢¯óþ ^èþ§æþ$Ð@þ#Mæü$¯é²''.

001. yé|| H.í³.gñý. Aº$ªÌŒý MæüÌêÐŒþ$V>Ææÿ$ ¿êÆæÿ™èþ§óþÔ¶ýç³# G¯@þ²Ð@þ Æ>çÙ‰ç³†?
(1)	 9Ð@þ		  (2)	 8Ð@þ	 (3)	 11Ð@þ	 (4)	 3Ð@þ

002. Aº$ªÌŒý MæüÌêÐŒþ$V>Ææÿ$ Æ>íÜ¯@þ ç³#çÜ¢Mæü… H¨? 
(1)	 yìþçÜPÐ@þÇ B‹œ C…yìþÄ¶ý*	 (2)	 C…yìþÄ¶ý* 2020	 (3)	 Ðóþ$Æÿ¬¯Œþ M>Å…‹³	 (4)	 yé‹Ü M>Åç³tÆŠÿ

003. Aº$ªÌŒý MæüÌêÐŒþ$ HÐ@þ$° õ³Ææÿ$ ´÷…§éÆæÿ$? 
(1)	 IÆæÿ¯Œþ Ð@þ*Å¯Œþ			   (2)	 A…™èþÈ„æü ç³ÇÔZ«§æþ¯@þ f¯@þMæü$yæþ$
(3)	 A¯@þ$Ô¶ýMìü¢ ç³ÇÔZ«§æþ¯@þ f¯@þMæü$yæþ$			   (4)	 Ñ$òÜ•ÞÌŒý Ð@þ*Å¯Œþ

004. Aº$ªÌŒý MæüÌêÐŒþ$V>Ææÿ$ GMæüPyæþ f°Ã…^éÆæÿ$? 
(1)	 ÝùÐóþ$Ô¶ýÓÆæÿ…ÌZ	 (2)	 Æ>Ðóþ$Ô¶ýÓÆæÿ…ÌZ	 (3)	 _™èþ*¢Ææÿ$ÌZ	 (4)	 »ñý…Væüâ¶ý*Ææÿ$ÌZ

Mìü…¨ VóüÄ¶ý$Ð@þ¬¯@þ$ ^èþ¨Ð@þ {ç³Ô¶ý² 05 ¯@þ$…yìþ 08 Ð@þÆæÿMæü$ AyìþW¯@þ {ç³Ô¶ý²ËMæü$ fÐéº$Ë$ ç³Æ>ÅÄ¶ý*Ë ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ.
H §óþÔ¶ý Ðóþ$W¯é, G…§æþ$M>Íyìþ¯@þ
H ï³uæÿÐðþ$MìüP¯é, GÐ@þÓÆóÿÐ@þ$°¯@þ
´÷VæüyæþÆ>! ± ™èþÍÏ ¿¶ý*Ñ$ ¿êÆæÿ†°,
°Ë$ç³Æ>! ± gê† °…yæþ$ VúÆæÿÐ@þÐ@þ¬!

H ç³NÆæÿÓç³#×ýÅÐðþ*, H Äñý*Væü ºËÐðþ*,
f¯@þÆÿ¬…_¯éyæþ ± çÜÓÆæÿYQ…yæþÐ@þ¬¯@þ
H ¯@þ$…_ ç³NÐ@þ#Ë¯Œþ {õ³Ñ$…_¯éÐö
°¯@þ$ Ððþ*òÜ D ™èþÍÏ Mæü¯@þMæü VæüÆæÿÂÐ@þ¬¯@þ!

Ìôý§æþ$Æ> Cr$Ð@þ…sìý ¿¶ý*§óþÑ Äñý$…§æþ$
ÌôýÆæÿ$V> Ð@þ$¯@þÐ@þ…sìý ´ûÆæÿ$ Í…Mðü…§æþ$!
çÜ*Ææÿ$Å° ÐðþË$™èþ$Ææÿ$ÌŒý ÝùMæü$¯@þ…§éMæü,
KyæþË gñý…yéË$ Byæþ$¯@þ…§éMæü!

005. Oò³ VóüÄ¶ý$…ÌZ MæüÑ §óþ° Væü$Ç…_ Ð@þÇ~…^éÆæÿ$? 
(1)	 ´ëuæÿÔ>Ë	 (2)	 ¯@þ§æþ$Ë$	 (3)	 f¯@þÃ¿¶ý*Ñ$	 (4)	 Ñgêq¯@þ…

006. f¯@þÆÿ¬…_¯éyæþ ± _ _ _ _ _ _ Q…yæþÐ@þ¬¯@þ 
(1)	 ¿¶ý*Ñ$		  (2)	 çÜÓÆæÿY	 (3)	 ´ûÆæÿ$Ë$	 (4)	 gñý…yéË$

007. "A§æþ–çÙt…' A¯@þ$ ç³§é°Mìü çÜÇOÄñý$¯@þ AÆæÿ¦Ð@þ¬¯@þ$ VóüÄ¶ý$Ð@þ¬ ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ. 
(1)	 Äñý*VæüÐ@þ¬	 (2)	 VúÆæÿÐ@þÐ@þ¬	 (3)	 VæüÆæÿÂÐ@þ¬	 (4)	 ï³uæÿÐ@þ¬

008. D VóüÄ¶ý$ ÝëÆ>…Ô¶ýÐ@þ¬¯@þMæü$ ^ðþ…§æþ° ÐéM>Å°² Væü$Ç¢…^èþ…yìþ.
(1)	 °Ë$ç³Æ>! ± gê† °…yæþ$ VúÆæÿÐ@þÐ@þ¬!		 (2)	 °¯@þ$ Ððþ*òÜ D ™èþÍÏ Mæü¯@þMæü VæüÆæÿÂÐ@þ¬¯@þ!
(3)	 ^ðþrt ç³sêtÌŒý ç³r$tMö° §óþÔ¶ýçÜ$¦Ë…™èþ ¯@þyæþÐ@þÐ@þÌñý¯øÄŒý$	 (4)	 ÌôýÆæÿ$Æ> Ð@þ$¯@þÐ@þ…sìý ´ûÆæÿ$Í…Mðü…§æþ$!

009. Mìü…¨ ç³§éËÌZ AÐ@þ$§éÓ^èþMæü ç³§é°² Væü$Ç¢…^èþ…yìþ. 
(1)	 Æ>Ð@þ¬yæþ$	 (2)	 Æ>«§æþ	 (3)	 ç³#çÜ¢MæüÐ@þ¬	 (4)	 Ðéyæþ$
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010. Mìü…¨ ÐésìýÌZ çÜÇM>° ºçßý$Ð@þ^èþ¯@þ ç³§æþÐ@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ. 
(1)	 Mæü$ÈaË$		 (2)	 BM>Ô¶ýÐ@þ¬Ë$	 (3)	 ºËÏË$	 (4)	 ç³#çÜ¢MæüÐ@þ¬Ë$

011. Mìü…¨ ÐéM>ÅËÌZ AÐ@þÅÄ¶ý$Ð@þ¬ M>° ÐéM>Å° Væü$Ç¢…^èþ…yìþ.
(1)	 Bà! HÑ$ B çÜ$…§æþÆæÿ ¿¶ýÐ@þ¯@þÐ@þ¬		  (2)	 AÐðþ*Ã! ^éÌê ¯öí³µ
(3)	 çÜ*Ææÿ$Åyæþ$ ™èþ*Ææÿ$µ¯@þ E§æþÆÿ¬…^èþ$¯@þ$		  (4)	 AÄñý*Å! ÐéÇMìü Gsìýt MæüçÙtÐ@þ¬ Ð@þ_a¯@þ¨

012. Mìü…§é ÐésìýÌZ çÜ…Ä¶ý¬Mæü¢ ÐéMæüÅÐ@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ. 
(1)	 ©ç³ ç³NË¯@þ$ MøòÜ¯@þ$			   (2)	 ©ç³ ç³NË¯@þ$ MøòÜ¯@þ$ M>° §æþ…yæþ¯@þ$ Mæü*ÆæÿaÌôý§æþ$
(3)	 ©ç³ ç³NË¯@þ$ MøíÜ, §æþ…yæþ¯@þ$ Mæü*Æðÿa¯@þ$		  (4)	 {ç³† AÆæÿVæü…rMæü$ ºçÜ$Þ¯@þ²¨

013. A™èþyæþ$ ¿Zf¯@þ… A…™é BÐðþ$Mæü$ C^óþaÔ>yæþ$. 
Oò³ ÐéMæüÅ…ÌZ X™èþX_¯@þ ç³§æþ… H ¿êÚë¿êV>°Mìü ^ðþ…¨¯@þ¨?
(1)	 çÜÆæÿÓ¯éÐ@þ$Ð@þ¬	 (2)	 ¯éÐ@þ$Ðé^èþMæüÐ@þ¬	 (3)	 “MìüÄ¶ý$	 (4)	 H©M>§æþ$

014. "¯óþ¯@þ$ D §óþÔ>°Mìü ÝëÓ™èþ…{™èþÅ… ¡çÜ$Mö° Ð@þÝë¢¯@þ$.'
Oò³ ÐéMæüÅÐ@þ¬ H M>ËÐ@þ¬¯@þMæü$ ^ðþ…¨¯@þ¨?
(1)	 Ð@þÆæÿ¢Ð@þ*¯@þ M>ËÐ@þ¬	 (2)	 ¿¶ý*™èþM>ËÐ@þ¬	 (3)	 ™èþ§æþ®ÆæÿÃM>ËÐ@þ¬	 (4)	 ¿¶ýÑçÙÅ™éPËÐ@þ¬

015. Mìü…¨ ÐéM>ÅËÌZ AMæüÆæÿÃMæü “MìüÄ¶ý$ ÐéMæüÅÐ@þ¬¯@þ$ Væü$Ç¢…^èþ$Ð@þ¬. 
(1)	 gêçÙ$Ðé Væü¼¾ËÐ@þ¬ A¯@þ$ M>Ð@þÅÐ@þ¬¯@þ$ Ææÿ_…^ðþ¯@þ$	 (2)	 BÐðþ$ ç³#çÜ¢MæüÐ@þ¬ ^èþ§æþ$Ð@þ#^èþ$¯@þ²¨
(3)	 Ð@þ*Ñ$yìþ ^ðþr$t ¯@þ¯@þ$² ^èþ*íÜ ÑËí³…_…¨	 (4)	 ç³„æü$Ë$ GWÆðÿ¯@þ$

016. E´ë«§éÅÄ¶ý¬°Mìü ÌôýQ {ÐéçÜ$¢¯@þ²ç³#yæþ$ çÜ…»Z«¨…^èþ$ ç³§éËMæü$ ^ðþ…§æþ°¨ H¨? 
(1)	 VúÆæÿÐ@þ±Ä¶ý¬OÌñý¯@þ	 (2)	 ç³NkÅOÌñý¯@þ	 (3)	 {í³Ä¶ý$OÐðþ$¯@þ	 (4)	 B«§æþÆæÿ±Ä¶ý¬OÌñý¯@þ

017. B M>Ë…ÌZ ç³ÌñýÏ ç³r$tË$ ç³^èþa° Oò³Ææÿ$ ç³…rË™ø Mæü¯@þ$Ñ…§æþ$ ^óþçÜ*¢ Ð@þ#…sêÆÿ¬.
Oò³ ÐéMæüÅ…ÌZ X™èþXíÜ¯@þ {ç³™èþÅÄ¶ý$Ð@þ¬ H Ñ¿¶ýMìü¢Mìü ^ðþ…¨¯@þ¨.
(1)	 ^èþ™èþ$È¦ Ñ¿¶ýMìü¢	 (2)	 çÙïÙx Ñ¿¶ýMìü¢	 (3)	 {ç³£æþÐ@þ* Ñ¿¶ýMìü¢	 (4)	 ™èþ–¡Ä¶ý* Ñ¿¶ýMìü¢

018. "¯@þÐ@þ#Ó _ _ _ _ _ _ Ñ«§éË ^óþr$' D ÝëÐðþ$™èþ¯@þ$ ç³NÇ…^èþ…yìþ.
(1)	 Ð@þÊyæþ$ 	 (2)	 ¯éË$Væü$	 (3)	 Hyæþ$	 (4)	 Æðÿ…yæþ$

019. Mìü…¨ ÐésìýÌZ A¯@þ$¯éíÜMæüÐ@þ¬Ë™ø ç³ËMæüºyæþ$ A„æüÆ>Ë¯@þ$ Væü$Ç¢…^èþ…yìþ. 
(1)	 Ô¶ý,çÙ		  (2)	 Ä¶ý$,Ææÿ	 (3)	 \ý,×ý	 (4)	 Ë,Ð@þ

020. Mìü…¨ ç³§éËÌZ ÝëÆæÿ*ç³Å ¨Ó™éÓË ç³§é°² Væü$Ç¢…^èþ…yìþ. 
(1)	 ç³^èþayìþ		  (2)	 ¯@þ„æü{™éË$	 (3)	 ^èþ“MæüÐ@þ¬	 (4)	 ç³ËMæü

021. i Mæü OÆðÿ
„æü Ë… f
Ð@þ$ Ä¶ý$
çœ$ ™èþ Éæþ

Oò³ Væüyìþ¯@þ$yìþÌZ G¯@þ²Ð@þ “MæüÐ@þ$Ð@þ¬ A„æüÆ>Ë$ ¡çÜ$Mæü$…sôý JMæü ç³#çÙµ… õ³Ææÿ$ Ð@þ^èþ$a¯@þ$?
(1)	 1, 3, 6 Ð@þ A„æüÆ>Ë$			   (2)	 4 Ð@þ$ÇÄ¶ý¬ 8 Ð@þ A„æüÆ>Ë$
(3)	 5, 6, 11 Ð@þ A„æüÆ>Ë$			   (4)	 2, 5, 10 Ð@þ A„æüÆ>Ë$

022. "MæüÑ' A¯@þ$ ç³§é°Mìü ¯é¯éÆæÿ¦Ð@þ¬ M>° ç³§é°² ç³Æ>ÅÄ¶ý*Ë ¯@þ$…yìþ Væü$Ç¢…^èþ…yìþ.
(1)	 ¿¶ý*Ñ$		  (2)	 Ô¶ý$“Mæü$yæþ$	 (3)	 çÜ*Ææÿ$Åyæþ$	 (4)	 º¬íÙ

023. Æ>Ð@þ#V>Ææÿ$ ™ðþË$Væü$ ÐéÆ>¢ ç³{†Mæü¯@þ$ {´ëÆæÿ…À…^éÆæÿ$. 
Oò³ ÐéMæüÅ…ÌZ X™èþX_¯@þ ç³§æþ… H ÐéM>Å…V>°Mìü ^ðþ…¨¯@þ¨?
(1)	 MæüÆæÿÃ		  (2)	 MæüÆæÿ¢	 (3)	 “MìüÄ¶ý$	 (4)	 H©M>§æþ$
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B§J«Or qH$dm ‘amR>r

031. Choose correct wh-type question to get underlined part.
Water is needed to sustain life on the earth.
(1)	 Who is needed to sustain life on the earth?
(2)	 Which is needed to sustain life on the earth?
(3)	 Whose is needed to sustain life on the earth?	
(4)	 What is needed to sustain life on the earth?

032. Choose the proper alternative to fill in the blank.
The shopkeeper does not have the toys.
I was looking  
(1)	 for		  (2)	 about	 (3)	 at	 (4)	 to

033. Rearrange the jumbled parts which are labelled P, Q, R, S to produce the correct  sentence. Choose 
the correct sequence.
The person 
P  : because he is poor
Q : work hard and efficiently
R : cannot
S : who is poor
(1)	 S R P Q	 (2)	 R P S Q	 (3)	 P Q R S	 (4)	 S R Q P

034. Choose the correctly spelt word
(1)	 Micsllaneous	 (2)	 Miscellaneous	 (3)	 Micslleneous	 (4)	 Miscellenious

024. Mìü…¨ ÐésìýÌZ çÜÇM>° Ð@þ#Å™èþµ™èþ¢ÅÆæÿ¦Ð@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ. 
(1)	 A…º$¨ & E§æþMæüÐ@þ¬¯@þ$ «§æþÇ…_¯@þ¨		  (2)	 º$«§æþ$Ë$ & HÑ$ ™ðþÍÄ¶ý$° ÐéÆæÿ$
(3)	 O§ðþ™èþ$ÅË$ & MæüÔ¶ýÅç³#¯@þMæü$ ¨†Ä¶ý$…§æþ$ MæüÍW¯@þ çÜ…™é¯@þÐ@þ¬	 (4)	 AÐ@þ$–™èþ… & Ð@þ$Ææÿ×ý… ÌôýMæü$…yæþ ^óþÄ¶ý¬¯@þ¨

025. Mìü…¨ ç³§éËÌZ ™èþ™èþÞÐ@þ$Ð@þ¬ ç³§é°² Væü$Ç¢…^èþ…yìþ. 
(1)	 ´÷™èþ¢Ð@þ¬	 (2)	 õ³Ææÿ$	 (3)	 Æøyæþ$z	 (4)	 Ñ§æþÅ

026. Mìü…¨ ÐésìýÌZ §øçÙÆæÿíßý™èþ ç³§æþÐ@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ. 
(1)	 ºMìü¢ “Ô¶ý«§æþË$	 (2)	 ¿¶ýMìü¢“Ô¶ý§æþ®Ë$	 (3)	 ¿¶ýMìü¢{çÜ«§æþâ¶ý$	 (4)	 ºMìü¢“Ô¶ý§éË$

027. Mìü…¨ ÐésìýÌZ çÜÇOÄñý$¯@þ AÆ>¦Ë f™èþ¯@þ$ Væü$Ç¢…^èþ…yìþ. 
(1)	 KÆæÿ$µ = Ä¶ý¬§æþªÆæÿ…VæüÐ@þ¬			   (2)	 E™èþÞÐ@þ… = §æþ$]QÐ@þ¬	
(3)	 AÆæÿ$áË$ = ™èþW¯@þÐéÆæÿ$			   (4)	 Aç³Ç_™èþÐ@þ¬ = ç³Ç_™èþÐ@þ¬

028. Mìü…¨ ÐésìýÌZ çÜÇM>° Ð@þÅ†ÆóÿMæü f™èþ¯@þ$ Væü$Ç¢…^èþ…yìþ. 
(1)	 B¯@þ…§æþÐ@þ¬ x çÜ…™øçÙÐ@þ¬			   (2)	 ºËïßý¯@þ$yæþ$ x ºËÐ@þ…™èþ$yæþ$
(3)	 ™ö…§æþÆæÿV> x ¯ðþÐ@þ$Ã¨			   (4)	 Ð@þ^èþ$ar x ´ùÐ@þ#r

029. Oyðþ¯@þOÐðþ$sŒý¯@þ$ GÐ@þÆæÿ$ Mæü¯@þ$Vö¯é²Ææÿ$?
(1)	 Ð@þ*ÆøP°	 (2)	 ¯@þ*År¯Œþ	 (3)	 BÌŒý{òœyŠþ ¯ø»ñýÌŒý	 (4)	 Ë*ÆÿÊ {»ñýÆÿ¬ÌŒý

030. }. Mîü.Ôóý. Væü$‚ý<… gêçÙ$Ð@þ V>ÇMìü ¿êÆæÿ™èþ {ç³¿¶ý$™èþÓ… H ¼Ææÿ$§æþ$™ø çÜ™èþPÇ…_…¨?
(1)	 ¿êÆæÿ™èþÆæÿ™èþ²	 (2)	 ç³§æþÃ}	 (3)	 ç³§æþÃÑ¿¶ý*çÙ×Šý	 (4)	 ç³§æþÃ¿¶ý*çÙ×Šý
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035. Choose the proper article to fill in blank.
Iron is  useful metal.
(1)	 the		  (2)	 an	 (3)	 a	 (4)	 no article

036. Choose the most suitable ‘one word’ for the given expression:
A person who leads a simple life devoting himself to contemplation and meditation:
(1)	 Altruist	 (2)	 Ascetic	 (3)	 Aesthete	 (4)	 Conservative

037. Select the correct cardinal number for the given:
A million -
(1)	 100,000	 (2)	 10,000,000	 (3)	 10,000	 (4)	 1,000,000

038. Identify which part of the sentence has an error.
A. I was greatly astonished
B. when I came to know
C. that my friend is coming to see me
D. after a gap of about twenty years
(1)	 C		  (2)	 A	 (3)	 B	 (4)	 D

039. Choose the correct passive voice form of the given sentence.
Why do you waste time?
(1)	 Why is time being wasted by you?
(2)	 Why has time been wasted by you?
(3)	 Why is time been wasted by you?
(4)	 Why is time wasted by you?

040. Choose the correct antonym of the given word.
Acquisitive
(1)	 Miserly	 (2)	 Austere	 (3)	 Frugal	 (4)	 Ardent

041. Fill in the blank with the correct alternative.
Duck : Duckling : : Hare : 
(1)	 Cygnet	 (2)	 Todpole	 (3)	 Piglet	 (4)	 Leveret

042. Choose the correct alternative for the given Direct speech :
“Oh, what a lovely day!” she exclaimed.
(1)	 She exclaimed with pleasure that it was a lovely day.
(2)	� She exclaimed that what a lovely day it was
(3)	 She exclaimed with pleasure that it is a lovely day.
(4)	 All correct.

043. Choose the correct alternative.
He is  for his evil deeds.
(1)	 Famous	 (2)	 Celebrated	 (3)	 Notorious	 (4)	 Noted

044. Fill in the blank with the correct alternative.
Reading is easier  speaking.
(1)	 to		  (2)	 for	 (3)	 be	 (4)	 than

045. Identify the mismatched pair from the given alternative.
(1)	 Parrots - squeal			   (2)	 Frogs - croak
(3)	 Owls - hoot			   (4)	 Horses - neigh

046. Choose the correct alternative.
He will not come, 
(1)	 I do not think			   (2)	 May think
(3)	 I thought			   (4)	 I think	
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047. Find out the phrase which can correctly substitute the underlined part of the sentence.
I saw him make a wry face
(1)	 Show disappointment			  (2)	 Feel sick
(3)	 Abuse			   (4)	 Cry with pain

048. Fill in the blank with the correct alternative.
The doctor  the patient from taking certain medicines.
(1)	 banned	 (2)	 prescribed	 (3)	 prohibited	 (4)	 proscribed

049. Choose the correct alternative.
I : This tree is older than that.
II : He is my elder brother.
(1)	 Only I is correct			   (2)	 Both I and II are correct
(3)	 Only II is correct			   (4)	 Both I and II are incorrect

050. Choose the alternative which can correctly substitute the underlined part of the sentence.
We should get to the cinema early not to miss the beginning of the film.
(1)	 for not missing			   (2)	 in case not to miss
(3)	 in order not to miss			   (4)	 No improvement

051. Fill in the blank with the alternative.
This is the  news.
(1)	 latter		 (2)	 latest	 (3)	 last	 (4)	 let

052. Choose the correct alternative.
He ran 
(1)	 quick		 (2)	 as quickly	 (3)	 so quick	 (4)	 quickly

053. Fill in the blank with the proper alternative.
As the festival approaches the number of customers 
(1)	 increases			   (2)	 will be increased
(3)	 is increasing			   (4)	 will have increased

054. Choose the correct alternative. 
Questions will be answered by a  of experts.
(1)	 staff		  (2)	 band	 (3)	 panel	 (4)	 bunch

055. Find out the correct feminine noun of ‘Fox’
(1)	 Foxen	 (2)	 She fox	 (3)	 Vixen	 (4)	 Foxess

Read the following passage and answer the questions selecting the most appropriate alternative. 
(Que. Nos 056 to 060)
In large part determined by a person’s gense. In short, some people are more predisposed to be fat. 
Moreover someone who was obese in childhood will have more fat cells than an average person. Once 
made the cells may enlarge or shrink but they never disappear. Gense however don’t have to control your 
girth. The size of your fat cells depends on you on your eating habits and life-style. There are ways to 
keep them small : eat low-fat fibre-rich foods such as whole grain breads, vegetables and fruits. Chew 
food slowly.

056. What one eats is an important factor in controlling weight because -
(1)	 Fat is burnt faster than proteins and carbohydrates.
(2)	 Proteins and carbohydrates use up more calories than fats.
(3)	 Fatty food has very little calorie content.
(4)	 Digestion is affected by proteins and carbohydrates.
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‘amR>r

nwT>rb CVmam dmMyZ Ë¶mImbrb àý H«$. 031 Vo 034 Mr CÎmao {Xboë¶m n¶m©¶mVyZ {ZdS>m.
‘hmË‘m Omo{V~m ’w$bo åhUVmV, Á¶mMo ‘Z gË¶mZo n{dÌ Pmbo Amho, Vmo OJmVrb gdm©V n{dÌ ‘mUyg. Á¶m ‘Zwî¶mbm ‘ZmÀ¶m 
nm{dÍ¶mMo ‘hÎd H$iV Zmhr. Vmo ‘Zwî¶ YaUrg ^ma R>aVmo. {ZXm}f Am{U CXçmoJr OrdZ ‘Zwî¶mbm Amamo½¶ {Z g§nÎmr XoVo. Amier 
‘Zwî¶ hm XþîQ> AgVmo. Vmo g‘mOmMm eÌy ~ZVmo. Vmo H$Yrhr gwIr hmoV Zmhr. CXçmoJr Am{U ewÕ Mm[aÍ¶mMm ‘Zwî¶ hm J[a~m§Mm 
dmbr AgVmo. Vmo AZoH$m§Zm gwIr H$aVmo. gË¶ào‘r, {Z‘©i ‘Z Am{U em§V öX¶ ¶mVyZ Y¡¶© {Z‘m©U hmoVo. Y¡¶©erb ‘Zwî¶ hmbAnoîQ>m 
ghZ H$aVmo, Am{U g§H$Q>mda ‘mV H$aVmo.

031. Omo{V~m§À¶m ‘Vo, OJmVrb gdm©V n{dÌ ‘mUyg H$moUVm?
(1)	 Omo ‘ZmZo {Z‘©i AgVmo.			   (2)	 Á¶mMo ‘Z gË¶mZo n{dÌ Pmbobo AgVo.
(3)	 Omo gdmªZm AmdS>Vmo.			   (4)	 Á¶mMo ‘Z gË¶ào‘r AgVo.

032. ‘Zwî¶mbm Amamo½¶ d g§nÎmr H$em‘wio {‘iVo?
(1)	 {ZXm}f d CXçmoJr OrdZm‘wio.		  (2)	 {ZXm}f d g‘mYmZr OrdZm‘wio.
(3)	 ì¶m¶m‘ d ì¶dgm¶ Ho$ë¶mZo.		  (4)	 Xþgè¶mbm ì¶dgm¶mV ‘XV Ho$ë¶mZo.

033. Amier ‘Zwî¶ H$gm AgVmo?
(1)	 Vmo g‘mYmZr AgVmo.			   (2)	 Vmo g‘mOmMm Zm¶H$ AgVmo.
(3)	 Vmo XþîQ> d g‘mOmMm eÌy AgVmo.		 (4)	 Vmo Amnbm doi M¡ZrV KmbdVmo.

034. Y¡¶©erb ‘mUyg H$gm AmoiImdm?
(1)	 Omo Xþgè¶m§ZmM ’$³V Yra XoVmo.	
(2)	 Vmo Y¡¶©erb Agë¶mZo bmoH$m§Zm Y¡¶m©Mo ‘hËËd nQ>dyZ XoVmo.
(3)	 Vmo gË¶ào‘r, {Z‘©i d em§V ‘ZmMm AgVmo.	
(4)	 Omo gË¶ào‘r AgyZ ñdV:À¶m Y¡¶©erbVoMm g‘mOmV àMma H$aVmo.

057. Body weight can be controlled best by:
(1)	 Doing exercises vigorously, every day.
(2)	 Mild, daily exercise and a proper diet.
(3)	 Fasting and vigorous exercise.
(4)	 Dieting alone.

058. Some ways in which obesity can be controlled are.
(1)	 Using the car occasionally.
(2)	 Use of bicycle as far as possible.
(3)	 Making a series of small physical efforts.
(4)	 Totally abandoning the use of lifts.

059. What can we conclude about exercise from the passage?
(1)	 Exercise helps only in controlling the body weight.
(2)	 It makes one more mercurial.
(3)	 It makes one more active and mentally positive.
(4)	 It is difficult to do exercise which is effective.

060. In determining whether one is going to be fat or thin.
(1)	 Genes play a paramount role.
(2)	 Adulthood alters childhood patterns drastically.
(3)	 Eating habits and life-style make no impact on fat cells.
(4)	 Fat cells formed during childhood are of crucial importance.
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035. "Q>dQ>drV' eãXmMm AMyH$ {déX²YmWu eãX H$moUVm?
(1)	 gVoO		  (2)	 ‘byb	 (3)	 {Z:g§Xoh	 (4)	 H$moaS>o

036. AmVm WmoS>çmM doimV H$m¶©H«$‘mbm gwé H$é¶m.
¶m dm³¶mVrb MyH$ AmoiIyZ XþéñVr gwMdm.
(1)	 gwé H$é¶m - gwé H$é ¶m.			  (2)	 H$m¶©H«$‘mbm - H$m¶©H«$‘
(3)	 doimV - doioV			   (4)	 dm³¶mV H$moUVrhr MyH$ Zmhr.

037. "gmIadmS>r' ¶m eãXmV Imbrbn¡H$s H$moUVm eãX Zmhr.
(1)	 gmIa		  (2)	 gma	 (3)	 dS>r	 (4)	 gmS>r

038. "Yy‘ R>moH$Uo' ¶m dmH²$àMmamMm ¶mo½¶ AW© H$moUVm?
(1)	 doJmZo YmdUo	 (2)	 Iyn ‘ma XoUo	 (3)	 H$nS>o YwUo	 (4)	 Ymo Ymo dmhUo

039. nwT>rbn¡H$s H$moUVr éno "a' Mr ZmhrV?
(1)	 gd©> 		  (2)	 g‘«mQ	 (3)	 amîQ´>	 (4)	 ¶mn¡H$s Zmhr

040. nwT>rbn¡H$s AMyH$ eãX H$moUVm?
(1)	 nwZd©gZ	 (2)	 nwZ©dgZ	 (3)	 nwZdg©Z	 (4)	 nwZ:dgZ

041. nwT>rbn¡H$s H$moUË¶m JQ>mVrb eãX "{H«$¶m{deofU' ¶m eãXOmVrVrb AmhoV?
(1)	 Aaoao, emã~mg	 (2)	 na§Vw, åhUyZ	 (3)	 AmVm, BH$S>o	 (4)	 H$[aVm, gmR>r

042. nwT>rbn¡H$s YmVwgm{YV {deofUo H$moUVr?
(1)	 ’$i-^mOr	 (2)	 dmhVr ZXr	 (3)	 WmoS>r nwñVHo$	 (4)	 H$moUVm Jmd

043. nwT>rbn¡H$s H$moUË¶m dm³¶mVrb {H«$¶mnX gH$‘©H$ Amho?
(1)	 Jdir Yma H$mT>Vmo.			   (2)	 Am§~m ZmgH$m {ZKmbm.
(3)	 ‘bm Kar ¶md¶mg amÌ Pmbr.		  (4)	 gwZrb CXçm nwÊ¶mbm OmB©b.

044. ‘amR>rVrb AmXç JXç J«§W H$moUVm?
(1)	 {ddoH$qgYw	 (2)	 brbm-M[aÌ	 (3)	 kmZoídar	 (4)	 ¶mn¡H$s Zmhr

045. nwT>rbn¡H$s nyU© dV©‘mZH$mimMo dm³¶ H$moUVo?
(1)	 ‘YyZo bmSy> Imëbm Agob.			  (2)	 ‘YyZo bmSy> Imëbm hmoVm.
(3)	 ‘Yy bmSy> ImVmo.			   (4)	 ‘YyZo bmSy> Imëbm Amho.

046. ^wO§Jà¶mV d¥ÎmmVrb JU H$moUVo?
(1)	 V, V, O, J, J			   (2)	 ¶, ¶, ¶, ¶
(3)	 V, ^, O, O, J, J			   (4)	 Z, Z, ‘, ¶, ¶

047. g§V åhU{V "gßV nXo ghdmgo g»¶ gmYwer KS>Vo'& ¶m AmoirVrb Ab§H$ma H$moUVm?
(1)	 ¶‘H$		  (2)	 AZwàmg	 (3)	 Cn‘m	 (4)	 CËàojm

048. nwT>rbn¡H$s AmoîR>ç dU© H$moUVm?
(1)	 ^²		  (2)	 b²	 (3)	 e²	 (4)	 h
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nwT>rb H${dVm dmMyZ Ë¶mImbrb àý H«$. 049 Vo 052 Mr CÎmao {Xboë¶m n¶m©¶mVyZ {ZdS>m.
		  H$monè¶mgr JwUJwUV AZ² A^§J
		  C^m Ho$ìhmMm EH$ Vmo An§J
		  ^modVrMm A§Yma Vmo {Z‘mbm
		  öX¶r Ë¶mÀ¶m OUy OmV Aml¶mbm &&
	 Or^ Pmbobr AmoaSy>Z emof
	 Mma {Xdgm§Mm Ë¶mVhr Cnmg
	 Z¶Z {WObo WaWaVr hmVnm¶
	 ê$n X¡Ý¶mMo C^o ‘yV© H$m¶?&&
		  H$sd ¶mdr nU Ë¶mMr Hw$Umbm
		  OmV Cnhmgw{Z ngabm H$ambm
		  VmoM ¶oB© Hw$Ur naVwZr ‘Oya
		  ~Kw{Z XrZm Ë¶m CYmUyZ D$a&&
	 åhUo am{hZ {XZ EH$ ‘r Cnmer
	 nar bm^y Xo XmoZ Kmg ¶mgr
	 {Igm AmoVw{Z V¶m Am|OirV
	 Mmby bmJo Vmo XrZ~§Yy dmQ>

049. ¶m H${dVoV H$moUmMo dU©Z Ho$bo Amho?
(1)	 ^m{dH$mMo 	 (2)	 AmOmè¶mMo	 (3)	 An§JmMo	 (4)	 ‘yVuMo

050. Ë¶mMo hmVnm¶ H$m WaWaV hmoVo?
(1)	 AmOmam‘wio	 (2)	 Cnmgm‘wio	 (3)	 X‘ë¶m‘wio	 (4)	 ^rH$ ‘m{JVë¶mZo

051. "XrZ~§Yy' H$moUmg åhQ>bo Amho?
(1)	 {^H$mè¶mg	 (2)	 Y{ZH$mg	 (3)	 ‘Owamg	 (4)	 B©ídamg

052. {^H$mè¶mg ~KyZ ‘OwamZo H$m¶ Ho$bo?
(1)	 Ë¶mMm D$a ^ê$Z Ambm.			   (2)	 {^H$mè¶mÀ¶m Am|OirV {IemVrb gd© n¡go Q>mH$bo.
(3)	 Amnbo AÝZ Ë¶mg {Xbo.			   (4)	 Ë¶mZo Ë¶mg {eì¶m {Xë¶m.

053. "Ho$edgwV' ¶m Q>monUZmdmZo boIZ H$aUmè¶m gm{hpË¶H$mMo Zmd H$m¶?
(1)	 à. Ho$. AÌo			   (2)	 H¥$. Ho$. Xm‘bo
(3)	 am. J. JS>H$ar			   (4)	 {d. dm. {eadmS>H$a

054. nwT>rb dm³¶mV H$moUVo {dam‘{MÝh Agm¶bm hdo?
VmB© åhUmbr, AmO AqO³¶ {H$Vr N>mZ ~mobbm!
(1)	 ?		  (2)	 .	 (3)	 ;	 (4)	 "" ''

055. YmH$Q>çm ^mdmbm amÁ¶ñVar¶ {Z~§Y ñnY}Mo n{hbo nm[aVmo{fH$ {‘imbo, Ë¶mbm {b{hbobo nÌ H$moUË¶m àH$maMo Agob?
(1)	 Mm¡H$er nÌ	 (2)	 A{^Z§XZ nÌ	 (3)	 VH«$ma nÌ	 (4)	 ‘mJUrnÌ

056. "H$moUË¶mhr àýmMo bJoM CÎma XoUmam' ¶m eãXg‘yhmgmR>r ¶mo½¶ eãX {bhm.
(1)	 hOaO~m~r	 (2)	 dmMmi	 (3)	 Vm|S>mi	 (4)	 eãXà^y

057. boIH$ ^mbM§Ð Zo‘mS>o ¶m§Zm "kmZnrR>' hm nwañH$ma Ho$ìhm àmßV Pmbm?
(1)	 6 ’o$~«wdmar 2015	 (2)	 6 ‘mM© 2015	 (3)	 6 OmZodmar 2015	 (4)	 6 E{àb 2015

058. n§Om~mVrb Kw‘mZ ¶oWo Pmboë¶m A{Ib ^maVr¶ ‘amR>r gm{hË¶ g§‘obZmMo AÜ¶j H$moU?
(1)	 ’$. ‘w§. qeXo	 (2)	 ZmJZmW H$moÎmmnëbo	 (3)	 S>m°. gXmZ§X ‘moao	 (4)	 ‘§Joe nmS>JmdH$a

059. "g^m' ¶m eãXmMo qbJ H$moUVo?
(1)	 ñÌrqbJ	 (2)	 nwpëb¨J	 (3)	 Znw§gH$qbJ	 (4)	 C^¶qbJ

060. "Vwåhr ñdV:bm H$m¶ g‘OVm?' ¶mVrb AYmoao{IV gd©Zm‘mMm àH$ma H$moUVm?
(1)	 nwéfdmMH$ d AmË‘dmMH$			  (2)	 Xe©H$ d nwéfdmMH$
(3)	 àýmW©H$ d AmË‘dmMH$			   (4)	 g§~§Yr d gm‘mÝ¶ gd©Zm‘
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~mb‘mZgemñÌ d AÜ¶mnZemñÌ

061. àË¶oH$ ~mbH$ ho doJio AgyZ, Vo {ZgJm©Mo EH$‘od d A{ÛVr¶ {Z{‘©Vr AgVo. Ë¶mZwgma ^md§S>m‘Ü¶o gm‘m{OH$, ‘mZ{gH$, 
^md{ZH$ d emar[aH$ ^oX Imbrbn¡H$s AZwd§emÀ¶m H$moUË¶m {Z¶‘mZwgma {XgyZ ¶oVmV?
(1)	 gmYå¶m©Mm {Z¶‘			   (2)	 {d{dYVoMm {Z¶‘
(3)	 namJ‘ZmMm {Z¶‘			   (4)	 nwZamd¥ËVrMm {Z¶‘

062. ‘mZdr àmÊ¶mMr KS>U AZwd§e d n[apñWVr ¶m§À¶m g§¶w³V H$m¶m©‘wioM hmoV AgVo. Imbr {Xboë¶m KQ>H$m§‘Ü¶o H$moUË¶m 
KQ>H$mda ’$³V n[apñWVrMm à^md {XgyZ ¶oVmo?
(1)	 ñd^md d d¥ËVr			   (2)	 n³dVoMo d¶
(3)	 ~wX²{Y‘ËVm			   (4)	 S>moù¶m§Mm d earamMm a§J

063. Ho$di kmZ|{Ð¶ C{ÔnrV hmoD$Z Or àmW{‘H$ ñdénmMr ‘mZ{gH$ à{H«$¶m hmoVo Vr g§doXZm hmo¶. Imbr {Xboë¶m {dYmZm§‘Ü¶o 
g§doXZo{df¶r H$moUVo {dYmZ ¶mo½¶ Amho?
(1)	 g§doXZm hr ’$³V Am§V[aH$ à{H«$¶m Amho.	
(2)	 Amnbr BÀN>m Agob VaM g§doXZm hmoVo.
(3)	 g§doXZoÀ¶m ~m~VrV ì¶³Vr hr g{H«$¶ AgVo.	
(4)	 g§doXZ à{H«$¶m ‘ZmMm EH$ AH$aUén ì¶mnma Amho.

064. hadbobo ZmUo emoYVm§Zm H$mJXmMm nm§T>am dVw©imH$ma VwH$S>m Vo ZmUo Agë¶mMm ^mg hmoVmo, Mm§XÊ¶m amÌr Xÿa EImXo PwSw>n 
nmhÿZ ‘Zwî¶ dm EImXm àmUr Agë¶mMm ^mg hmoVmo. ho Imbrbn¡H$s Ad~moYmÀ¶m H$moUË¶m B§{Ð¶^«‘ Xmofm‘wio hmoVo?
(1)	 n[a{MVVm			   (2)	 ^m¡{‘{VH$ B§{Ð¶^«‘
(3)	 {d{eîQ> ‘Z:pñW{V			   (4)	 {d{eîQ> ^m¡{VH$ n[apñWVr

065. kmZ|{Ð¶ C{ÔnrV Z hmoVm EImXçm nwdm©Zw^dmMo nwZéÁOrdZ hmoUo åhUOo à{V‘m hmo¶. Imbr {Xboë¶m {dYmZm§‘Ü¶o H$moUVo 
{dYmZ à{V‘oMo d¡{eîQ>ç Amho?
(1)	 à{V‘m pñWa AgVmV.	
(2)	 à{V‘m§Mr Vrd«Vm gdmª‘Ü¶o gmaIrM AgVo.
(3)	 nydm©Zw^dm{edm¶ à{V‘m V¶ma hmoV Zmhr.	
(4)	 gd© à{V‘m gma»¶mM Vrd«VoZo {Z‘m©U hmoVmV.

066. AÜ¶¶ZmÏ¶mªZm H$ënZm{dîH$mamMr g§Yr CnbãY H$éZ XoÊ¶mgmR>r {ejH$mZo Imbrbn¡H$s H$moUVo CnH«$‘ am~dmdo?
A)	 {XdmirÀ¶m doir {H$ëbo V¶ma H$éZ ¿¶mdo.
~)	 IoimÀ¶m ‘mÜ¶‘mVyZ H$ënZm {dH${gV H$aÊ¶mMm à¶ËZ H$amdm.
H$)	 dmXçdmXZ H$ê$Z ¿¶mdo.
S>)	 àXe©Z ‘m§S>Ur H$éZ ¿¶mdr.
(1)	 A, ~, H$ ’$³V			   (2)	 A, H$, S> ’$³V
(3)	 A, ~, S> ’$³V			   (4)	 A, ~, H$, S> gd©

067. ‘Z ¶m§À¶m ‘Vo nwdm©Zw^dmÀ¶m {d{dY A§Jm§Mr ‘ZmVë¶m ‘ZmV OwidmOwid H$aUo åhUOo ........ hmo¶.
(1)	 ñ‘aU		  (2)	 ~wÕr	 (3)	 {dMma	 (4)	 àoaUm
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CHILD DEVELOPMENT & PEDAGOGY

061. �Every child is unique and an only and matchless creation of nature. According to this various 
social, mental, emotional and physical differences in siblings are seen because of which of the 
following law of heredity?				  
(1)	 Law of similarity			   (2)	 Law of variation
(3)	 Law of regression			   (4)	 Law of repetition

062. Formation of a human being occurs due to the joint working of heredity and environment. Which 
of the following is affected by environment only? 
(1)	 Nature and attitude			   (2)	 Age of maturity
(3)	 Intelligence			   (4)	 Colour of eyes and skin

063. Sensation is the primary mental process occurring due to stimulation of sense organs. Which of 
the following statement about sensation is correct?
(1)	 Sensation is only an internal process	
(2)	 Sensation occurs only if we have the wish
(3)	 A Person is active about sensation	
(4)	 Sensation process is an inactive business of the mind

064. �While searching for a lost coin we feel that a white round piece of paper is the coin, a faraway 
shrub looks like an animal or man on a moonlit night. This happens due to which of the following 
defects of illusion?
(1)	 Familiarity			   (2)	 Geometrical optical illusions
(3)	 Preparatory set or attitude		  (4)	 Physical causes

065. �Imagery is revival of a previous experience without the stimulation of sense organs. Which of the 
following is a characteristic of imagery?
(1)	 Imagery is stable	
(2)	 Intensity of imagery is similar in everyone
(3)	 Imagery is not formed without previous experiences	
(4)	 All images are formed with the same intensity

066. Which of the following activities should a teacher carry out to give the students a chance for 
creativity and imagination? 
A)	 Prepare forts during Diwali festival	
B)	 Developing ideas through games
C)	 Ask the students to play musical instruments
D)	 Arrange an exhibition by students.
(1)	 A, B and C only			   (2)	 A, C and D only
(3)	 A, B and D only			   (4)	 A, B, C, D all

067. According to Munn, arrangement of various aspects of previous experience in the mind is called 
as ................
(1)	 Memory	 (2)	 Intelligence	 (3)	 Thinking	 (4)	 Motivation
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068. XmoZ KQ>Zm EH$m‘mJmo‘mJ KS>ë¶m Va Ë¶m‘Ü¶o H$m¶©H$maU g§~§Y OmoS>Ê¶mMm à¶ËZ Ho$bm OmVmo. CXm. narjobm OmVm§Zm ‘m§Oa 
AmS>do OmUo ho narjoV Zmnmg hmoÊ¶mMo H$maU R>adbo OmVo. ho Imbrbn¡H$s {dMma à{H«$¶oVrb H$moUË¶m AS>Wù¶m‘wio hmoVo.
(1)	 à{VHy$b J«h	 (2)	 H$mH$Vmbr¶ Ý¶m¶	 (3)	 BÀN>mZwJm‘r {dMma	 (4)	 {ZarjUmVrb Xmof

069. YmaUo~m~V Imbrbn¡H$s H$moUVo d¡{eîQ>ç ¶mo½¶ Amho?
(1)	 nmR>monmR> H${dVm nmR> Ho$ë¶mg YmaUoda n[aUm‘ hmoV Zmhr.	
(2)	 YmaUm ~moYmdñWoV Agob Va Amnë¶mbm MQ>H$Z AmR>dVo.
(3)	 YmaUm Cn~moYmdñWoV Agob Va Amnë¶mbm MQ>H$Z AmR>dVo.	
(4)	 A~moYmdñWoVrb ~m~r à¶ËZ Ho$ë¶mda AmR>dVmV.

070. {dñ‘aUm~X²XbMo Imbrbn¡H$s H$moUVo d¡{eîQ>ç A¶mo½¶ Amho?
(1)	 {dñ‘aU hr ‘hËdmMr à{H«$¶m Amho.	
(2)	 ñ‘aU Mm§Jbo amhÊ¶mgmR>r ~è¶mM JmoîQ>r {dgaë¶m nm{hOoV.
(3)	 YmaUm {OVH$s H$‘r {VVHo$ {dñ‘aU H$‘r.	
(4)	 YmaUm {OVH$s OmñV {VVHo$ {dñ‘aU H$‘r.

071. Am§V[aH$ àoaUo~m~V Imbrbn¡H$s H$moUVo {dYmZ A¶mo½¶ Amho?
(1)	 {df¶mMr AmdS> hr Am§V[aH$ àoaUm Amho.	
(2)	 Am§V[aH$ àoaUm d A{^ê$Mr ¶m§Mm {ZH$Q>Mm g§~§Y Amho.
(3)	 àmoËgmhHo$ Am§V[aH$ àoaUm AmhoV.	
(4)	 A{^ê$Mr hm Am§V[aH$ àoaUoMm nm¶m Amho.

072. pñnAa‘Z ¶m§À¶m ~w{Õ‘ËVoÀ¶m {ÛKQ>H$ CnnËVr‘Ü¶o Oo gm‘mÝ¶ d {d{eîQ> KQ>H$ AmhoV Ë¶mg§~§Yr Imbr {Xboë¶m 
{dYmZm§n¡H$s H$moUVo {dYmZ ¶mo½¶ Amho?
(1)	 àË¶oH$ ì¶³Vr‘Ü¶o gm‘mÝ¶ KQ>H$ ‘moR>m AgVmo.	
(2)	 àË¶oH$ ì¶³Vr‘Ü¶o {deof KQ>H$ ‘moR>m AgVmo.
(3)	 j‘Vm§Zm {dH$mgnyaH$ Agm gm‘mÝ¶ KQ>H$ AgVmo.	
(4)	 {deof KQ>H$ gd© H$m¶m©V ì¶³Vrbm Cn¶w³V AgVmo.

073. ""ñdV:À¶m d BVam§À¶m ^md^mdZm§da {Z¶§ÌU R>odUo d {Z¶‘Z H$aÊ¶mMr j‘Vm, {dMma d H¥$Vr ¶m§À¶m ‘mJ©Xe©ZmgmR>r 
^mdZm§Mm Cn¶moJ H$aÊ¶mMr j‘Vm åhUOo ^md{ZH$ ~wX²{Y‘ËVm hmo¶.'' hr ì¶m»¶m Imbrbn¡H$s H$moUË¶m ‘mZgemñÌkmZo 
{Xbr?
(1)	 Amë’«o$S> ~rZo	 (2)	 S>oìhrS> doíba	 (3)	 nrQ>a g°bmoìhr	 (4)	 hm°dS>© JmS>©Za

074. bodrZZo ‘m§S>bobo ‘mZ{gH$ g§Kfm©Mo àH$ma d Ë¶m§Mr CXmhaUo Imbr {Xbr AmhoV. Ë¶m§À¶m ¶mo½¶ OmoS>çm§Mm ~amo~a n¶m©¶ 
H$moUVm?

CXmhaU g§Kfm©Mm àH$ma
i) {IemV {gZo‘mnwaVo n¡go AmhoV nU {‘Ìm§Zm nmQ>u Xçmdrer dmQ>Vo, na§Vw {gZo‘m 

nmhÊ¶mMr BÀN>m gmoS>dV Zmhr.
A) hdo-ZH$mo g§Kf©

ii) narjogmR>r Aä¶mgmMo H$îQ> ZH$mo AgVmV d Zmnmg hmoUohr ZH$mo AgVo. ~) hdo-hdo g§Kf©
iii) AmdS>Vm nXmW© Imdm dmQ>Vmo nU nmoQ>mV OmJm Zgë¶m‘wio ZH$mo dmQ>Vmo. H$) ZH$mo-ZH$mo g§Kf©

(1)	 i – A ii – ~ iii – H$			   (2)	 i – ~ ii – H$ iii – A
(3)	 i – H$ ii – ~ iii – A			   (4)	 i – ~ ii – A iii – H$
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068. �If two things happen one after the other then one tries to find the cause and effect between them, 
for e.g. A cat crosses your path while going to the examination and you fail. Your failure is linked 
to the crossing of the cat. This happens due which of the following obstacles in thinking?
(1)	 Prejudiced thinking			   (2)	 Coincidental judgement
(3)	 Wishful thinking			   (4)	 Defect in observation

069. Which of the following statement about retention is correct?
(1)	 Retention is not affected when poems are learned one after the other.
(2)	 We can recall quickly if retention occurs in cognition state.
(3)	 We can recall quickly if retention occurs in semi cognition state.	
(4)	 We can recall what is retained in non cognition state after some trying.

070. Which of the following statement about forgetting is incorrect?
(1)	 Forgetting is an important process.	
(2)	 In order to improve memory, many things should be forgotten
(3)	 Less retention, less forgetting.	
(4)	 More retention, less forgetting.

071. Which of the following statement about internal motive is incorrect?
(1)	 Liking of a subject is an internal motive.
(2)	 Internal motive and interest are closely related.
(3)	 Motivators are internal motives.	
(4)	 Interest is the base of internal motive.

072. �Spearman has given two factors i.e. General and Specific factors in his two factor theory of 
intelligence. Which of the following statement is correct about it?
(1)	 General factor in every person is large.
(2)	 Specific factor in every person is large.
(3)	 General factor is supplementary for the development of competencies.
(4)	 Specific factor is useful in all functions for a person.

073. �Emotional intelligence in terms of being able to monitor and regulate one’s own and other’s 
feeling and to use feelings to guide thought and action. This definition of emotional intelligence 
was given by which of the following psychologist?
(1)	 Alfred Binet			   (2)	 David Weshler
(3)	 Peter Salovy			   (4)	 Howard Gardener

074. Following are given Lewin’s types of mental conflicts and its examples. Which alternative shows 
the correct pairs?

Example Type of Conflict
i) There is money in the Pocket enough to watch a film. Desire is to 

give party to friends and also want to watch the film.
A) Yes - No - Conflict

ii) One doesn’t want to study for the examination nor want to fail in exam. B) Yes - Yes - Conflict
iii) One feels like eating favourite food but don’t feel like eating it 

because stomach is full.
C) No - No - Conflict 

(1) 	 i - A ii - B iii - C			   (2)	 i - B ii - C iii - A
(3) 	 i - C ii - B iii - A			   (4) 	 i - B ii - A iii - C



Q.B. Series - 701 Telugu (Set - A)	 14 of 32

075. narjoV gmYo ¶e {‘imë¶mg ""‘r ‘wirM Aä¶mg Ho$bm ZìhVm, Var ‘bm BVHo$ JwU {‘imbo'' Ago gm§JV gwQ>Uo åhUOo 
................. g§ajU ¶§ÌUoMm dmna H$aUo.
(1)	 VmXmËå¶	 (2)	 ZH$mamË‘H$Vm	 (3)	 à{VnyaU	 (4)	 H¥$VH$g‘W©Z

076. XmoZ AÜ¶¶Z nX²YVt‘Ü¶o ZwgVo g‘mZ KQ>H$ g§H«$‘U H$aVmV nU Ë¶mhrnojm A{YH$ ñnîQ> {ZpíMV ñdénmMo AÜ¶¶Z 
g§H«$‘U Ë¶m XmoZ KQ>H$m§Mo gm‘mÝ¶rH$aU Ho$bo Va KS>Vo. hr gm‘mÝ¶rH$aU AÜ¶¶Z g§H«$‘U CnnËVr Imbrbn¡H$s H$moUË¶m 
‘mZgemñÌkmZo ‘m§S>br?
(1)	 n°ìhbm°ìh	 (2)	 ~°½bo	 (3)	 OS>S²>	 (4)	 Wm°Z©S>mB©H$

077. e¡edmdñWo‘Ü¶o Á¶m¶moJo ~mbH$ {dMmamÀ¶m d AmH$bZmÀ¶m dV©‘mZ aMZo‘Ü¶o ZdrZ KQ>H$ qH$dm AZw^d g‘m{dîQ> H$éZ 
KoVo d Á¶mdoir dV©‘mZ {dMmanÜXVrZwgma EImXçm C{ÔnH$mMo qH$dm  KQ>ZoMo g§doXZ AmH$bZ Ho$bo OmVo qH$dm Ë¶mbm 
à{V{H«$¶m Ho$br OmVo Voìhm .......... {H«$¶m KS>Vo.
(1)	 A{^‘wIrH$aU	 (2)	 AmË‘gmVrH$aU	 (3)	 g§YmaU	 (4)	 g‘mdoeZ

078. {H$emoamdñWoVrb ~mbH$m§À¶m ^md{ZH$ {dH$mgm~m~V Imbrbn¡H$s H$moUVr ~m~ ¶mo½¶ Amho?
(1)	 AW© g‘OyZM nmR>m§Va H$aVmV.	
(2)	 ¶m d¶mVrb ‘wbm§Mr AdYmZH$jm A‘¶m©{XV AgVo.
(3)	 ZrVr-AZrVrMr OmUrd AgVo.	
(4)	 nmR> Ho$bobo ghgm {dgaV ZmhrV.

079. ‘§XJVrZo AÜ¶¶Z H$aUmè¶m {dX²¶mÏ¶mª~m~V Imbrbn¡H$s H$moUVr ~m~ A¶mo½¶ Amho?
(1)	 ¶m {dX²¶mÏ¶mªMr ~wX²{Y‘ËVm gm‘mÝ¶ AgVo.	
(2)	 ho ‘§X~wÕr {dX²¶mWu AgVmV.
(3)	 gd©gm‘mÝ¶m§À¶m VwbZoZo Aä¶mgmV ‘mJo nS>VmV.	
(4)	 ¶m {dX²¶mÏ¶mªgmR>r Z¡Xm{ZH$ MmMUr Amdí¶H$ AgVo.

080. ""ì¶p³V‘ËËd åhUOo ñdV:À¶m n[agamer ì¶³VrMo Oo d¡{eîQçnyU© g‘m¶moOZ hmoV AgVo Ë¶mbm H$maUr^yV AgUmar 
d dV©Zmbm MmbZm XoUmar emar[aH$ Am{U ‘mZ{gH$ ¶§ÌUoMr J{Verb g§KQ>Zm hmo¶.'' Aer ì¶p³V‘ËËdmMr ì¶m»¶m 
Imbrbn¡H$s H$moUË¶m ‘mZgemñÌkmZo {Xbr?
(1)	 Zm°‘©Z Eb ‘Z			   (2)	 Or S>ãë¶y Am°bnmoQ>©
(3)	 Or E. qH$~b			   (4)	 Oo. ~r. d°Q>gZ

081. d¥H$ñW J«§WrVyZ nmPaUmè¶m A°S´>oZ{bZ ¶m ñÌmdmMo à‘mU H$‘r Pmë¶mg Imbrbn¡H$s H$moUVm n[aUm‘ {XgyZ ¶oVmo?
(1)	 nm¡ê$fËËd {XgyZ ¶oVo.			   (2)	 ñdmñÏ¶ OmUdVo.
(3)	 ì¶³Vr Ae³V {XgVo.			   (4)	 ì¶³Vr pñWa d¥ËVrMr {XgVo.

082. AÜ¶¶Z CnnËVtÀ¶m dJuH$aUmVrb AmYw{ZH$ CnnËVr‘Ü¶o Imbrbn¡H$s H$moUË¶m CnnËVrMm g‘mdoe hmoV Zmhr?
(1)	 à^wËËd AÜ¶¶Z CnnËVr			   (2)	 joÌr¶ CnnËVr
(3)	 gm‘m{OH$ AÜ¶¶Z CnnËVr			  (4)	 ‘m{hVr à{H«$¶mH$aU à{V‘mZ

083. AÜ¶¶ZmWu AmXe© emoYVmo, Ë¶mMo {ZarjU H$aVmo, AmXe© dV©ZmMo AZwH$aU H$aVmo Am{U Amnë¶m dV©Z à~bZmMr Amem 
H$aVmo d AÜ¶¶Z H$aVmo, hr d¡{eîQ>ço AgUmar gm‘m{OH$ {ZarjUmË‘H$ CnnËVr Imbrbn¡H$s H$moUË¶m ‘mZgemñÌkmZo 
‘m§S>br?
(1)	 ~m§Xÿam		  (2)	 ãby‘	 (3)	 ~«wZa	 (4)	 Amgy~ob
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075. When a student passes with less marks then he says that he had not studied for the exam but still 
he passed and got these marks.
This is  type defense mechanism.
(1)	 Identification	 (2)	 Negativism	 (3)	 Compensation	 (4)	 Rationalisation

076. Similar factors are transferred between two learning methods. But a more clear transfer of learning 
takes place when the two factors are generalised. This theory of generalisation was put forth by 
which of the following psychologists?
(1)	 Pavlov	 (2)	 Bagley	 (3)	 Judd	 (4)	 Thorndike

077. In infancy period when a child accepts new ideas or experience in his present structure of thinking 
and understanding and when according to present way of thinking the sensation and comprehension 
of an event or stimulant is done or a response is given then  process occurs.
(1)	 Orientation			   (2)	 Assimilation	
(3)	 Conservation			   (4)	 Accommodation

078. Which of the following aspect is correct about emotional development of children of later childhood 
stage?
(1)	 They learn by understanding the meaning.
(2)	 The attention span of these students is unlimited.
(3)	 They are aware of morality & immorality.
(4)	 They rarely forget what they have learned.

079. Which of the following aspect is incorrect about slow learners?
(1)	 These children have normal (average) intelligence.
(2)	 These are moron children.
(3)	 These children lag behind in studies as compared to normal children.
(4)	 Diagnostic tests are necessary for these children.

080. “Personality is the dynamic organisation within the individual of those psychophysical systems 
that determine his unique adjustment to his environment”. Which of the following psychologists 
put forth this definition of personality?
(1)	 Norman L. Munn			   (2)	 G. W. Allport
(3)	 G. A. Kimble			   (4)	 J. B. Watson

081. If the secretion of adrenalin from adrenalin glands decreases then which of the following symptom 
is observed?
(1)	 Manliness is observed		  (2)	 State of good health is felt
(3)	 A person becomes weak		  (4)	 A person looks stable in nature.

082. Which of the following theory is not included in the modern group theories of learning?
(1)	 Theory of mastery learning		 (2)	 Field theory of learning
(3)	 Social learning theory			  (4)	 Information processing model.

083. A learner picks and chooses from many environmental options, basing their decisions on their own 
insights and past experiences. They do this through observational learning by incorporating and 
imitating the behavior of those around us. This theory was put forth by which of the following 
psychologists?
(1)	 Bandura	 (2)	 Bloom	 (3)	 Bruner	 (4)	 Ausubel
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084. à^mdr AÜ¶mnZmVyZ {dX²¶mÏ¶mª‘Ü¶o AÜ¶¶Zerb d¥ËVrMr {Z{‘©Vr ìhmdr åhUyZ Imbrbn¡H$s H$moUË¶m j‘Vm ‘hËËdmÀ¶m 
AmhoV?
A)	 {M{H$ËgH$ d¥ËVr {Z‘m©U ìhmdr.
~)	 ñdV§Ì {dMma H$aÊ¶mMr j‘Vm {Z‘m©U ìhmdr.
H$)	 Zra {ddoH$ ~wX²{Y {Z‘m©U ìhmdr.
S>)	 g‘ñ¶oMr CH$b H$aÊ¶mMr Hw$dV {Z‘m©U ìhmdr.
(1)	 A, ~ Am{U H$	 (2)	 A, ~ Am{U S>	 (3)	 ~, H$ Am{U S>	 (4)	 A, ~, H$, S> gd©

085. Imbrbn¡H$s H$moUË¶m à{V‘mZmMo C{ÔîQ> ho kmZmË‘H$, d¡Mm[aH$, ~m¡X²{YH$ A§Jm§Mm {dH$mg KS>dyZ AmUUo Am{U CX²Jm‘r 
d AdJm‘r {dMma à[H«$¶oMr j‘Vm {dH${gV H$aUo ho Amho?
(1)	 kmZ à{H«$¶mH$aU à{V‘mZo			   (2)	 ì¶p³VJV {dH$mg à{V‘mZo
(3)	 gm‘m{OH$ Am§Va{H«$¶m à{V‘mZo		  (4)	 dV©Z n[adV©Z à{V‘mZo

086. Imbr {Xboë¶m  AÜ¶¶Z n«{H«$¶oÀ¶m d¡{eîQ>çm§‘Ü¶o H$moUVo d¡{eîQ>ç ¶mo½¶ Zmhr?
(1)	 AÜ¶¶Z ho Zo‘Ho$ H¥$VrÛmam KS>V AgVo.	
(2)	 àË¶oH$ àmUr OJÊ¶mgmR>r AÜ¶¶Z H$arV AgVmo.
(3)	 gd© àmÊ¶m§Mo AÜ¶¶Z gmaIo AgVo.	
(4)	 AÜ¶¶Z hr hiyhiy KS>Umar à{H«$¶m Amho.

087. ""AZw^dm§À¶m ghmæ¶mZo ì¶³VrÀ¶m dV©ZmV hiyhiy KSy>Z ¶oUmao ~Xb åhUOo AÜ¶¶Z hmo¶.'' Aer ì¶m»¶m Imbrbn¡H$s 
H$moUË¶m ‘mZgemñÌkmZo Ho$br?
(1)	 ’«±$S>goZ		 (2)	 ‘’$s©	 (3)	 dwS>dW©	 (4)	 {Jb’$S>©

088. AÜ¶¶Z H$aVm§Zm nR>mamdñWm {Z‘m©U hmoD$ Z¶o åhUyZ Imbrbn¡H$s H$moUË¶m JmoîQ>r H$amì¶mV?
A)	 {dÚmÏ¶m©‘Ü¶o A{^ê$Mr {Z‘m©U H$amdr.
~)	 àoaH$mMr Vrd«Vm H$‘r H$amdr.
H$)	 H$m¡eë¶ g§nmXZ H$aVm§Zm MwH$sÀ¶m gd¶r AmË‘gmV H$é XoD$ Z¶o.
S>)	 doJ Am{U AMyH$Vm ¶mn¡H$s EH$mM JmoîQ>rda bj H|${ÐV H$amdo.
(1)	 A Am{U ~	 (2)	 A Am{U H$	 (3)	 A Am{U S>	 (4)	 ~ Am{U H$

089. Imbr AÜ¶¶ZmMr ì¶m»¶m d ‘mZgemñÌk ¶m§À¶m OmoS>çm {Xë¶m AmhoV. Ë¶m§Mm ¶mo½¶ OmoS>çm§Mm n¶m©¶ H$moUVm?

A ~
i) ‘Z A) AÜ¶¶Z åhUOo AZw^dmÛmao dV©ZmV hmoUmar gwYmaUm hmo¶.
ii) dwS>dW© ~) AÜ¶¶Z åhUOo AZw^dm{lV dV©Z~Xb hmo¶.
iii) JoQ>g² H$) AÜ¶¶Z åhUOo AZw^d Am{U dV©Z ¶m§À¶m‘Yrb gwYmaUm hmo¶.
iv) {gJmob S>) AÜ¶¶Z hr ~Xb KS>dyZ AmUUmar {H«$¶m Amho.

(1)	 i – H$, ii – S,> iii – A, iv – ~	 (2)	 i – A, ii – ~, iii – H$, iv – S>
(3)	 i – S>, ii – ~,> iii – A, iv – H$	 (4)	 i – ~,$ ii – A,> iii – H$, iv – S

090. A{^g§YmZ åhUOo EImXçm à{H«$¶oV Z¡g{J©H$ MoVH$m~amo~a H¥${Ì‘ MoVH$ dmnê$Z H¥${Ì‘ MoVH$mÛmao VrM Z¡g{J©H$ à{V{H«$¶m 
KS>dyZ AmUUo hmo¶. Ë¶m‘wio {dXçmÏ¶mªZm diU bmdUo e³¶ hmoVo. Imbrbn¡H$s H$moUVr ~m~ A{^g§YmZmMo CXmhaU Zmhr?
(1)	 AÜ¶¶ZmÏ¶mªMr d¥ËVr ~XbVm ¶oVo.	
(2)	 AÜ¶¶ZmÏ¶mªZm dmQ>Umar AH$maU ^rVr A{^g§YmZmZo ZîQ> H$aVm ¶oVo.
(3)	 AÜ¶¶ZmÏ¶m©À¶m M‘ËH$m[aH$ dV©ZmV ~Xb H$aUo A{^g§YmZmZo Ae³¶ AgVo.	
(4)	 AÜ¶¶ZmÏ¶mªZm ¶mo½¶ gd¶r bmdVm ¶oVmV.
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084. Which of the following competencies are important for creating studious attitude through effective 
teaching?
A)	 Critical thinking competency
B)	 Competency of independent thinking
C)	 Competency of wisdom and sense.
D)	 Competency of problem solving.
(1)	 A, B and C only			   (2)	 A, B and D only
(3)	 B, C and D only			   (4)	 A, B, C and D all

085. Which of the following model of teaching has the objective of development of cognitive angle 
and development of inductive deductive competency of thinking process?
(1)	 Information processing model	 (2)	 Personal development model
(3)	 Social interaction model		  (4)	 Behaviour modification model

086. Which of the following characteristic of learning process is not correct?
(1)	 Learning occurs through proper activity.
(2)	 Every animal learns in order to live
(3)	 All animals learn in similar manner.
(4)	 Learning process is slow process.

087. ‘Learning is slow behavioural changes that occur in an individual with the help of experiences.’ 
Which of the following psychologists put forth the definition of learning?
(1)	 Frandson	 (2)	 Murphy	 (3)	 Woodworth	 (4)	 Guilford

088. Which of the following things should be done by a teacher in order to avoid plateau stage of 
learning?
A)	 Create interest in the students
B)	 Decrease the intensity of motivators
C)	 See that the students do not acquire wrong habits during skill achievement
D)	 Concentrate either on speed or accuracy.
(1)	 A and B only			   (2)	 A and C only
(3)	 A and D only			   (4)	 B and C only

089. Following are given some definitions of learning and their psychologists. Which alternative has 
the correct pairs?

A B
i) Munn A) Improvement in behaviour through experience is learning
ii) Woodworth B) Learning is experience based behaviour change
iii) Gates C) Learning means improvement in experience and behaviour
iv) Sigoule D) Learning is process that brings change.

(1) 	 i - C ii - D iii - A iv - B		  (2) 	 i - A ii - B iii - C iv - D
(3) 	 i - D ii - B iii - A iv - C		  (4) 	 i - B ii - A iii - C iv - D

090. “Conditioning means if one stimulus can elicit a given response, the mere pairing of it with 
neutral stimulus results in the neutral stimulus also becoming capable of eliciting that response.” 
Accordingly which of the following is not an example of conditioning?
(1)	 One can change the attitude of learner.
(2)	 One can remove fear of a learner by conditioning.
(3)	 One cannot change strange behaviour of the learners by conditioning.
(4)	 One can imbibe suitable habits in learners.
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J{UV

091. 10 ¶m {ÌH$moUr g§»¶oZ§Va H«$‘mZo ¶oUmè¶m AmR>ì¶m {ÌH$moUr g§»¶oMm nm¶m {H$Vr?
(1)	 14		  (2)	 13	 (3)	 12	 (4)	 11

092. EH$ H$m‘ H$mhr ‘Oya H$mhr {XdgmV nyU© H$aVmV. Oa ‘Oyam§Mr g§»¶m 3
2  nQ> Ho$br; Va VoM H$m‘ nyU© H$aÊ¶mg {Xdgm§Mr 

g§»¶m nyyduÀ¶m g§»¶oÀ¶m {H$Vr nQ> hmoB©b?

(1)	 gìdm nQ>	 (2)	 4
3  nQ>	 (3)	 XrS>nQ>	 (4)	 3

2  nQ>

093. amo‘Z g§»¶m§À¶m g§X^m©Zo {dg§JV n¶m©¶ H$moUVm?
(1)	 M ^m{Jbo C	 (2)	 xxV Jw{Ubo IV	 (3)	 xc A{YH$ x	 (4)	 D dOm CD

094. {‘{ZQ> H$mQ>m ~mamda AgVm§Zm doi nm{hbr, Voìhm VmgH$mQ>m d {‘{ZQ>H$mQ>m ¶m§À¶mV H$mQ>H$moZ V¶ma Pmbobm {Xgbm. Va 
AmUIr XrS> Vmgm§Zr Ë¶m XmoÝhr H$mQ>çmV {H$Vr A§emMm H$moZ hmoB©b?
(1)	 40°		  (2)	 45°	 (3)	 150°	 (4)	 165°

095. Imbrb AmH¥$Vr~§YmV " ' À¶m OmJr AgUmar g§»¶m H$moUVr?
15, 26, 35, 50, 63, , 99
(1)	 80		  (2)	 81	 (3)	 82	 (4)	 83

096. 88 go‘r n[aK AgUmè¶m dVw©imdarb H$moUVohr Mma q~Xþ nañnam§er OmoSy>Z V¶ma Pmboë¶m Mm¡agmH¥$VrMr ~mOy {H$Vr 
go‘r Agob?
(1)	 14 2 	 (2)	 14	 (3)	 7 2 	 (4)	 7

097. àË¶oH$s 1.75 ‘r. g‘mZ ‘mnmMo VwH$S>o H$aÊ¶mgmR>r gìdm EH$moUdrg ‘r. bm§~rÀ¶m XmoarMr XmoÝhr Q>moHo$ Owi{dbr; Va 
Ë¶m XþnXar Xmoarbm {H$Vr {R>H$mUr H$mnmdo bmJob?
(1)	 6		  (2)	 5	 (3)	 10	 (4)	 11

098. EH$m g§»¶og 15, 11 Am{U 12 ¶m§Zr ^mJbo AgVm, àË¶oH$ doir ~mH$s 4 CaVo. Va Vr g§»¶m Imbrb n¶m©¶m§n¡H$s 
H$moUVr Agy eHo$b?
(1)	 660		  (2)	 1984	 (3)	 1316	 (4)	 2636

099.
. . . . . . . .

. . . . . .
1 8 1 4 6 5 3 3 2 25 0 25 4 25 1 75

6 5 3 3 2 5 2 25 0 25 3 2
+ - - + -

- - + +
^

^

^ ^

^

^h h

h

h

h

h
< F = {H$Vr ?

(1)	 1		  (2)	 0	 (3)	 2.5	 (4)	 3.2

100. EH$m dVw©imH¥$Vr ~mJo‘Ü¶o AgUmè¶m Am¶VmH¥$Vr ‘¡XmZmMr bm§~r 56 ‘r. d é§Xr 42 ‘r. Amho. Oa ‘¡XmZmMo Mmahr 
{eamoq~Xÿ dVw©imH¥$Vr OmJoÀ¶m n[aKmda AgVrb; Va ‘¡XmZ dJiVm Cd©[aV ~mJoMo joÌ’$i {H$Vr Mm¡. ‘r. Agob?
(1)	 2135		  (2)	 3850	 (3)	 2352	 (4)	 1498
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MATHEMATICS

091. What is a base of sequential eight triangular number comes after triangular number 10?
(1)	 14		  (2)	 13	 (3)	 12	 (4)	 11

092. Some workers completes a work within some days. If number of workers is increased by 3
2  times, 

then how many times the days are required to complete the same work?

(1)	 one and quarter times			  (2)	 4
3  times

(3)	 one and half times			   (4)	 3
2  times

093. With reference to Roman numbers system, which is the contradictory option from the following?
(1)	 M is divided by C			   (2)	 xxV is multiplied by IV. 
(3)	 xc plus x			   (4)	 D minus CD

094. When minute hand is at twelve right angle is observed in between minute hand and an hour hand 
of a clock. What will be the angle (in degrees) will be observed after one and half hour between 
two hands of a clock:
(1)	 40°		  (2)	 45°	 (3)	 150°	 (4)	 165°

095. What will be the number at ‘‘ ’’ place in the following number pattern?
15, 26, 35, 50, 63, , 99
(1)	 80		  (2)	 81	 (3)	 82	 (4)	 83

096. What will be the length of a side of the square in cm. formed by joining four points on the circle 
whose circumference is 88 cm?
(1)	 14 2 		 (2)	 14	 (3)	 7 2 	 (4)	 7

097. Two ends of a rope having length quarter and nineteen meters are assembled at together at a point. 
In how many points such a dual rope will be cuts in order to divide it in equal pieces having a 
length of 1.75 meters each?
(1)	 6		  (2)	 5	 (3)	 10	 (4)	 11

098. When a number is divided by 15, 11 and 12 every time the remainder will be 4. What will be the 
number from the following?
(1)	 660		  (2)	 1984	 (3)	 1316	 (4)	 2636

099.
. . . . . . . .

. . . . . .
1 8 1 4 6 5 3 3 2 25 0 25 4 25 1 75

6 5 3 3 2 5 2 25 0 25 3 2
+ - - + -

- - + +
^

^

^ ^

^

^h h

h

h

h

h
< F =  ?

(1)	 1		  (2)	 0	 (3)	 2.5	 (4)	 3.2

100. Length and breadth of a rectangular ground in a circular garden is 56 m and 42 m, respectively. 
If four Vertices of a ground are on a circumference of a circular garden. Find the area of a region 
excluding ground in sq. m.
(1)	 2135		  (2)	 3850	 (3)	 2352	 (4)	 1498
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101. g{dVmMo ‘m{gH$ doVZ é. 10000 AgyZ Vo do{XH$mÀ¶m ‘m{gH$ doVZmÀ¶m gìdmnQ> Amho. do{XH$mÀ¶m ‘m{gH$ doVZmMr a³H$‘ 
Am{g¶mÀ¶m ‘m{gH$ doVZmÀ¶m XþßnQ> Agob; Va g{dVm d Am{g¶m ¶m§À¶m ‘m{gH$ doVZmVrb ’$aH$ {H$Vr én¶o Amho?
(1)	 é. 6000	 (2)	 é. 4000	 (3)	 é. 3750	 (4)	 é. 2000

102. H$mhr ‘wbm§Zm àË¶oH$s 18 døm dmQ>m¶Mo R>abo. na§Vw àË¶jmV àË¶oH$s 24 døm dmQ>ë¶m; Voìhm 150 døm H$‘r nS>ë¶m; 
Va Ë¶m ‘wbm§Mr g§»¶m {H$Vr Agob?
(1)	 18		  (2)	 28	 (3)	 22	 (4)	 25

103. eoOmarb AmH¥$VrVrb Mm¡H$moZm§Mr g§»¶m {H$Vr?		   
(1)	 6		  (2)	 8
(3)	 10		  (4)	 12

104. 56 dñVy g‘mZ dmQ>m¶À¶m AgVrb; Va {H$Vr àH$mao dmQ>Vm ¶oVrb?
(1)	 10		  (2)	 8	 (3)	 6	 (4)	 4

105. XmoZ A§H$s g‘ g§»¶m§Mr ~oarO {H$Vr?
(1)	 2500		  (2)	 2475	 (3)	 2530	 (4)	 2430

106. (9 d 49), (11 d 111), (19 d 247), (21 d 85) Am{U (12 d 33) ¶m§n¡H$s gh‘yi g§»¶m§À¶m OmoS>çm {H$Vr?
(1)	 nmM		  (2)	 XmoZ	 (3)	 VrZ	 (4)	 Mma

107. EHo$ dfu ‘hmamîQ´> {XZ ewH«$dmar Amho. Va Ë¶mM dfu {ejH$ {XZ H$moUË¶m dmar Agob?
(1)	 ~wYdma		 (2)	 ewH«$dma	 (3)	 Jwédma	 (4)	 e{Zdma

108. {d{eîQ> a³H$‘oÀ¶m 18
7  nQ> a³H$‘ doXbm qH$dm 5

2  nQ> a³H$‘ AmbmoH$bm qH$dm 8
3 nQ> a³H$‘ 

gm{Z¶mbm qH$dm 11
6 nQ> a³H$‘ drUmbm {Xbr Agob; Va gdm©V H$‘r a³H$‘ H$moUmbm {‘iob?

(1)	 doX		  (2)	 AmbmoH$	 (3)	 gm{Z¶m	 (4)	 drUm

109. "Am¶V hm ........ AgVmo.' ho {dYmZ nyU© H$aÊ¶mgmR>r ¶mo½¶ AgUmè¶m ~m~r Imbrbn¡H$s H$moUË¶m?
A)	 g‘m§Va^wO Mm¡H$moZ
~)	 H$mQ>H$moZ Mm¡H$moZ
H$)	 g‘^wO Mm¡H$moZ
(1)	 ’$³V "A' Am{U "~'			   (2)	 ’$³V "~' Am{U "H$'
(3)	 ’$³V "A' Am{U "H$'			   (4)	 {VÝhr "A', "~' Am{U "H$'

110. .1 2
1

8
5

4
1 0 24#+ -c m; E  = {H$Vr?

(1)	 5 5
2 		  (2)	 1.59	 (3)	 1510

9 	 (4)	 0.54
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101. Monthly salary of Savita is ` 10000. It is quarter one times the salary of Vedica. Vedica's monthly 
salary is twice the Asiya's monthly salary. What is a difference between the monthly salary of 
Vedica and Asiya?
(1)	 ` 6000	 (2)	 ` 4000	 (3)	 ` 3750	 (4)	 ` 2000

102. It is decided that among some boys 18 notebooks are given to each boy. But when actually 24 
notebooks are given to each boy. 150 notebooks are fall short. Then what is the number of boys?
(1)	 18		  (2)	 28	 (3)	 22	 (4)	 25

103. Write the number of quadrilaterals		  
in the adjoining figure.
(1)	 6		  (2)	 8
(3)	 10		  (4)	 12

104. If 56 articles are to be distributed equally, then how many ways can they distributed?
(1)	 10		  (2)	 8	 (3)	 6		  (4)	 4

105. What is a sum of all two digits even numbers?
(1)	 2500		  (2)	 2475	 (3)	 2530	 (4)	 2430

106. How many pairs of co-prime numbers from the following?  
(9 and 49), (11 and 111), (19 and 247), (21 and 85) and (12 and 33)?
(1)	 Five		  (2)	 Two	 (3)	 Three	 (4)	 Four

107. In a certain year ‘Maharashtra Din’ is on Friday in the same year what will be the day on ‘Shikshak 
Din’? 
(1)	 Wednesday	 (2)	 Friday	 (3)	 Thursday	 (4)	 Saturday

108. Of the certain amount, if 18
7  times is given to Ved or 5

2  times the amount is given to Alok or 

8
3 times of the amount is given to Saniya or 11

6 times of the amount is given to Veena. Then 
who will get the least amount?
(1)	 Ved		  (2)	 Alok	 (3)	 Saniya	 (4)	 Veena

109. ‘Rectangle is a .................’ to complete this statement which of the following alternatives is more 
correct?
A)	 Parallelogram
B)	 Right angled quadrilateral
C)	 Rhombus.
(1)	 only A and B			   (2)	 only B and C
(3)	 only A and C			   (4)	 All three A, B and C

110. Find the Value of : .1 2
1

8
5

4
1 0 24#+ -c m; E  = ?

(1)	 5 5
2 		  (2)	 1.59	 (3)	 1510

9 	 (4)	 0.54
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111. eoOmarb KS>Urdê$Z V¶ma 			   E

A B C D

F

 
hmoUmè¶m BpîQ>H$m{MVr AmH$mamÀ¶m  
noQ>rÀ¶m ‘A’  À¶m {déÕ n¥îR>mda  
H$moUVo Aja Agob?
(1)	 E		  (2)	 F
(3)	 C		  (4)	 D

112. VrZ noQ>çm§‘Ü¶o AZwH«$‘o 216, 126 d 162 døm AmhoV. Ë¶m noQ>çm§Vrb døm§Mo g‘mZ døm Agbobo JÇ>o H$am¶Mo 
Agë¶mg àË¶oH$ JÇ>¶mV OmñVrV OmñV {H$Vr døm ¿¶mì¶mV?
(1)	 6		  (2)	 9	 (3)	 36	 (4)	 18

113. 49.247 ¶m g§»¶oVrb COdrH$S>rb MmaMr ñWm{ZH$ qH$‘V S>mdrH$S>rb MmaÀ¶m ñWm{ZH$ qH$‘VrÀ¶m {H$Vr nQ> Amho?
(1)	 102		  (2)	 10-2	 (3)	 103	 (4)	 10-3

114. eoOmarb g‘^wO Mm¡H$moZmVrb			 
20º

nº

  
n° = {H$Vr?
(1)	 70°		  (2)	 80°
(3)	 60°		  (4)	 90°

115. 9 go‘r × 40 go‘r Am¶VmH¥$Vr a§JrV H$mJXmÀ¶m XmoÝhr H$Umªda H$mnyZ Mma nVmH$m V¶ma Ho$ë¶mV; Va XmoZ ‘moR>çm 
nVmH$m§Mr EHy$U n[a{‘Vr {H$Vr go‘r Agob?
(1)	 262 go‘r	 (2)	 180 go‘r	 (3)	 162 go‘r	 (4)	 81 go‘r

116.
x

x x
5

9 202

-
- +^

^ h

h= G  = 0 Agob ; Va x  = {H$Vr?

(1)	 4		  (2)	 -4	 (3)	 5	 (4)	 -5

117. ’$³V H$mhr 500 én¶o qH$‘VrÀ¶m d H$mhr 2000 ê$n¶o qH$‘VrÀ¶m ZmoQ>m Agboë¶m {nedrV 30500 én¶o AmhoV; Va 
Ë¶m {nedrV Imbrb n¶m©¶m§n¡H$s 500 én¶o qH$‘VrÀ¶m {H$Vr ZmoQ>m Agy eH$Vrb?
(1)	 23		  (2)	 39	 (3)	 43	 (4)	 49

118. EH$m H$moZmMm nyaH$H$moZ Am{U H$mo{Q>H$moZ ¶m§À¶m ‘mnm§Mr ~oarO 200° Amho. Va Ë¶m H$moZmMo ‘mn {H$Vr?
(1)	 35°		  (2)	 45°	 (3)	 55°	 (4)	 65°
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111. In the figure aside is a open structure of		  E

A B C D

F

 
parallelopipe box. What will be the 
letter on exactly opposite  
surface of letter ‘A’?
(1)	 E		  (2)	 F
(3)	 C		  (4)	 D

112. Three boxes contains respectively 216, 126 and 162 notebooks.  If three bundles of equal numbers 
of notebooks are made. Then how many maximum numbers of note-books each bundle will 
contains?
(1)	 6		  (2)	 9	 (3)	 36	 (4)	 18

113. In a number 49.247, how many times the place value of 4 at extreme right than the extreme left?
(1)	 102		  (2)	 10–2	 (3)	 103	 (4)	 10–3

114. In the rhombus in adjoining		   	
20º

nº

 
figure. What will be the  
value of n° ? 
(1)	 70°		  (2)	 80°
(3)	 60°		  (4)	 90°

115. Rectangular color paper of size 9 cm × 40 cm. is cut diagonally into four triangle shaped pieces 
i.e. pataka. What will be the total perimeter of two largest pieces (patakas) so formed?
(1)	 262 cm	 (2)	 180 cm	 (3)	 162 cm	 (4)	 81 cm

116. If x
x x

5
9 202

-
- +^

^ h

h= G = 0 then x = ?

(1)	 4		  (2)	 – 4	 (3)	 5	 (4)	 –5

117. In a bag there are some notes of ` 500 and some notes of ` 2000 denominations. Total cost of 
notes is ` 30500. Find the total number of notes of ` 500 in a bag.
(1)	 23		  (2)	 39	 (3)	 43	 (4)	 49

118. If sum of the measures of supplementary angle and complementary angle of an angle is 200°. 
What will be the measure of an angle?
(1)	 35°		  (2)	 45°	 (3)	 55°	 (4)	 65°



Q.B. Series - 701 Telugu (Set - A)	 24 of 32

à. 119 d 120 gyMZm: AmboImMo {ZarjU H$ê$Z gmoS>dm.

gyMr: {dÚmWu CnpñWVr
Y  Ajmda
à‘mU: 1 go‘r = eo. 5

- (‘{hZo) -
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119. Am°³Q>mo~a ‘{hÝ¶mMr {dÚmWu CnpñWVr Am°JñQ> ‘{hÝ¶mÀ¶m CnpñWVrÀ¶m eo. {H$VrZo OmñV Amho? 
(1)	 11 9

1 		 (2)	 10	 (3)	 12 2
1 	 (4)	 88 9

8

120. {H$Vr ‘{hÝ¶mV {dÚmÏ¶mªMr eo. CnpñWVr nmM ‘{hÝ¶m§Vrb eo. gamgar CnpñWVrnojm H$‘r Amho?
(1)	 EH$		  (2)	 XmoZ	 (3)	 VrZ	 (4)	 Mma
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Note: Instructions for Q. 119 and Q. 120
Observe the graph given and answer the Q. 119, Q. 120
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119. By how many percent more attendance of a students in the month of October than the attendance 
in the month of August? 
(1)	 11 9

1 		  (2)	 10	 (3)	 12 2
1 	 (4)	 88 9

8

120. In how many months the percent attendance of students is less than the average of attendance 
(percent) in the five months?
(1)	 One		  (2)	 Two	 (3)	 Three	 (4)	 Four
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n[aga Aä¶mg

121. ^maVmÀ¶m g§X^m©Zo àmMrZ B{VhmgmMm H$mbI§S> H$moUVm?
(1)	 Bgdr gZ nyd© AmR>ì¶m eVH$mnmgyZ Bgdr gZmÀ¶m Xhmì¶m eVH$mn¶ªV	
(2)	 Aí‘¶wJrZ H$mimnmgyZ Bgdr gZmÀ¶m AmR>ì¶m eVH$mn¶ªV
(3)	 Aí‘¶wJrZ H$mimnmgyZ Bgdr gZmÀ¶m Xhmì¶m eVH$mn¶ªV	
(4)	 Bgdr gZ nyd© AmR>ì¶m eVH$mnmgyZ Vo Bgdr gZmÀ¶m AmR>ì¶m eVH$mn¶ªV

122. Imbrbn¡H$s ¶mo½¶ {dYmZo H$moUVr?
A)	 hS>ßnm g§ñH¥$Vrbm qgYy g§ñH¥$Vr Agohr åhUVmV.
~)	 hS>ßnm d ‘mohoZOmoXS>mo ¶m XmoÝhr {R>H$mUm§À¶m Adeofm§‘Ü¶o g‘mZ d¡{eîQ>ço {XgyZ Ambr.
H$)	 hS>ßnm d ‘mohoZOmoXS>mo hr XmoÝhr ehao AmO nm{H$ñVmZmV AmhoV.
(1)	 ’$³V "A' Am{U "~'			   (2)	 ’$³V "~' Am{U "H$'
(3)	 ’$³V "H$' Am{U "A'			   (4)	 {VÝhr "A', "~' Am{U "H$'

123. ‘mZdr CËH«$m§ÝVrÀ¶m Q>ßß¶mVrb "~w{Õ‘mZ ‘mZd' H$moUË¶m ZmdmZo AmoiIbm OmVmo?
(1)	 hmo‘mo h°{~{bg	 (2)	 hmo‘mo Bao³Q>g	 (3)	 {ZA±S>aWb ‘°Z	 (4)	 H«$mo‘°Zm°Z ‘°Z

124. {edH$mimV qhXdr ñdamÁ¶mMm/gm‘«mÁ¶mMm ^mJ Zgbobm àXoe/{R>H$mU Xe©{dUmam n¶m©¶ H$moUVm?
(1)	 H$Zm©Q>H$mVrb ~oiJmd			   (2)	 H$madma d YmadmS>
(3)	 Vm‘riZmSy>Vrb doëbmoa			   (4)	 åh¡gya d ‘XþamB©

125. "N>ÌnVr {edmOr ‘hmamO ho Amnë¶m ghH$mè¶m§Zm CÔoeyZ ~mobV AmhoV.' Agm àg§J H$ënyZ H$moUr H$mì¶aMZm Ho$br Amho?
(1)	 ‘hmË‘m Omo{V~m ’w$bo			   (2)	 gw~«‘Ê¶‘ ^maVr
(3)	 aqdÐZmW Q>mJmoa			   (4)	 gamo{OZr Zm¶Sy>

126. ‘Ü¶¶wJrZ ^maVmMo n{hbo Ama‘maXb H$moUË¶m eVH$mV C^mabo Jobo?
(1)	 n§Yamdo		 (2)	 gmoimdo	 (3)	 gVamdo	 (4)	 AR>amdo

127. N>ÌnVr {edmOr ‘hmamO: {edZoar :: g‘W© am‘Xmg :?
(1)	 gÁOZJS>	 (2)	 Om§~	 (3)	 Mm’$i	 (4)	 {edWaKi

128. "{edam¶ Amnë¶m godH$m§Mr/ghH$mè¶m§Mr {nË¶mgmaIr H$miOr KoV'. ¶m dm³¶mer g§~§{YV ñnîQ>rH$aU XoVm§Zm {dÚmÏ¶mªZm 
{ejH$ H$moUmMm XmIbm XoUma ZmhrV?
(1)	 ‘Xmar ‘ohÎma	 (2)	 H$mÝhmoOr OoYo	 (3)	 àVmnamd JwOa	 (4)	 ~mOr KmoanS>o

129. {edam¶m§À¶m H$mimV "~maJra' ho g§~moYZ/nX H$moUË¶m g¡Ý¶Xbmer g§~§{YV Amho?
(1)	 KmoS>Xi	 (2)	 nm¶Xi	 (3)	 Ama‘maXb	 (4)	 hoaImVo

130. ^maVr¶ g§{dYmZmZwgma Imbrb n¶m©¶m§n¡H$s H$moUVm ‘wb^yV A{YH$ma Zmhr?
(1)	 Y‘©ñdmV§Í¶mMm A{YH$ma			   (2)	 e¡j{UH$ d gm§ñH¥${VH$ A{YH$ma
(3)	 ‘VXmZmMm A{YH$ma			   (4)	 KQ>ZmË‘H$ Cnm¶¶moOZm§Mm A{YH$ma
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121. Which of the following is the era of ancient history related to India?	
(1)	 8th century BC to 10th century AD.	
(2)	 from stone Age to 8th century AD.	
(3)	 from stone Age to 10th century AD.	
(4)	 from 8th century BC to 8th century AD.

122. Which of the following are correct statements?
A)	 Harappa civilization is also called as Indus civilization.
B)	 �Both Harappa and Mohenjodaro civilizations showed similarity in historical remains.
C)	 Harappa and Mohenjodaro both cities are in Pakistan now.	
(1)	 Only A and B			   (2)	 Only B and C	
(3)	 Only C and A			   (4)	 A, B and C all

123. What is the ‘Intelligent Man’ from the stage of development in human evolution called?
(1)	 Homo habilis			   (2)	 Homo erectus	
(3)	 Neanderthal man			   (4)	 Cro-magnon man

124. Which of the following area is not an area of Hindavi Swarajya in times of Shivaji Maharaj?
(1)	 Belgaum in Karnataka		  (2)	 Karwar and Dharwad	
(3)	 Vellore in Tamil Nadu		  (4)	 Mysore and Madurai

125. Which of the following person has written a poem about an imaginary incident in which Shivaji 
Maharaj talks to his associates?
(1)	 Mahatma Jyotiba Phule		  (2)	 Subramanyam Bharti	
(3)	 Ravindranath Tagore			   (4)	 Sarojini Naidu

126. In which century was the first Navy of Medieval India established?
(1)	 Fifteenth	 (2)	 Sixteenth	 (3)	 Seventeenth	 (4)	 Eighteenth

127. Chatrapati Shivaji Maharaj : Shivnery :: Samarth Ramdas : ?
(1)	 Sajjangad	 (2)	 Jaamb	 (3)	 Chaphal	 (4)	 Shivtharghal

128. “Shivaji Maharaj cared for his associates like a father.” While explaining this to the students, a 
teacher will not give example of which of the following person?
(1)	 Madari Mehetar			   (2)	 Kanhoji Jedhe	
(3)	 Prataprao Gujar			   (4)	 Baji Ghorpade

129. The Post of 'Bargir' was associated with which of the following division in the army of Shivaji 
Maharaj?
(1)	 Cavalry			   (2)	 Infantry	
(3)	 Navy			   (4)	 Intelligence Service

130. Which of the following is not a fundamental right according to the constitution of India?
(1)	 Right to Freedom of Religion	 (2)	 Educational and Cultural Rights	
(3)	 Right to Vote			   (4)	 Right to Constitutional Protection
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131. {H$‘mZ 15 d H$‘mb 45 gXñ¶g§»¶m H$moUË¶m ñWm{ZH$ emgZ g§ñWoV AgVo?
(1)	 ZJan§Mm¶V	 (2)	 n§Mm¶V g{‘Vr	 (3)	 ZJan[afX	 (4)	 J«m‘n§Mm¶V

132. Imbrb n¶m©¶mVrb amÁ¶nmbm§er g§~§{YV {dg§JV ~m~ H$moUVr?
(1)	 amÁ¶mMo KQ>ZmË‘H$ à‘wI AgVmV.	
(2)	 amÁ¶mMo H$m¶©H$mar à‘wI ZgVmV.
(3)	 amÁ¶m~mhoarb ì¶³Vr AgVmV.	
(4)	 amÁ¶mVrb H$m¶©H$mar ‘§S>imV g‘mdoe ZgVmo.

133. V§Vw‘¶ nXmW© ZgUmam n¶m©¶ H$moUVm?
(1)	 ~mOar		 (2)	 nmbo^mÁ¶m	 (3)	 YmÝ¶mMm H$m|S>m	 (4)	 ‘mJm©[aZ

134. "n|M ZdoJmd d Mm§Xmobr' hm JQ> àm‘w»¶mZo H$emer g§~§{YV Amho?
(1)	 eaUdUo	 (2)	 A^¶maÊ¶o	 (3)	 amîQ´>r¶ CÚmZo	 (4)	 O¡d{d{dYVm CÚmZo

135. ‘hmamîQ´>mVrb gømÐr nd©Vr¶ àXoemV AmT>iUmè¶m à‘wI Am{Xdmgr O‘mVr H$moUË¶m?
(1)	 H$moaHw$-dmabr	 (2)	 dmabr-H$moH$Um	 (3)	 H$moH$Um-{^ëb	 (4)	 {^ëb-H$moaHw$

136. "H$mir ‘¥Xm' ¶m àH$maÀ¶m ‘¥XoMo d¡{eîQ>ç/JwUY‘© ZgUmao {dYmZ Imbrb n¶m©¶m§n¡H$s H$moUVo?
(1)	 ~ogm°ëQ> IS>H$m§Mm Anj¶ hmoD$Z ¶m ‘¥XoMr {Z{‘©Vr hmoVo.	
(2)	 {Q>Q>°{Z’o$ag, ‘°½ZoQ>mB©Q> ¶m KQ>H$Ðì¶m§‘wio H$mim a§J àmßV hmoVmo.
(3)	 nmUr Yê$Z R>odÊ¶mMr j‘Vm OmñV AgVo.	
(4)	 ¶m ‘¥Xobm "aoJya' qH$dm "JmimMr ‘¥Xm' Agohr åhUVmV.

137. ‘hmamîQ´>mVrb ObqgMZ joÌmMm {dMma H$aVm gd©gm‘mÝ¶nUo ObqgMZ gmYZm§À¶m dmnamZwê$n gdm©V OmñV d gdm©V 
H$‘r Aer OmoS>r Xe©{dUmam n¶m©¶ H$moUVm?
(1)	 H$mbdm-Cngm	 (2)	 H$mbdm-Vbmd	 (3)	 {dhra-Cngm	 (4)	 {dhra-Vbmd

138. Imbrb n¶m©¶m§n¡H$s aoImd¥ÎmmMo d¡{eîQ>ç H$moUVo?
(1)	 nañnam§er g‘m§Va			   (2)	 bm§~r g‘mZ
(3)	 ‘yi aoImd¥Îm åhUOo ~¥hVd¥Îm		  (4)	 0° aoImd¥Îm åhUOo {dfwdd¥Îm

139. "‘¡XmZ' ¶m ZmdmZo AmoiIbm OmUmam àXoe H$moUVm?
(1)	 N>ÎmrgJS> amÁ¶mMm X{jU ^mJ Am{U Amo{S>em amÁ¶mMm Z¡F$Ë¶ ^mJ	
(2)	 N>ÎmrgJS> amÁ¶mMm ‘Ü¶^mJ Am{U Amo{S>em amÁ¶mMm npíM‘ ^mJ
(3)	 nyd}Mo nR>ma	
(4)	 H$Zm©Q>H$Mo nR>ma

140. "gImob eoVr' ¶m eoVr àH$mamer g§~§{YV ~m~r Imbrbn¡H$s H$moUË¶m?
A)	 EH$mM àH$maMo ‘moR>çm à‘mUmda {dñVrU© joÌmV KoVbo OmUmao nrH$
~)	 ‘Zwî¶ d new~imMm OmñVrV OmñV dmna
H$)	 ‘¶m©{XV ¶m§{ÌH$sH$aU
(1)	 ’$³V "A' Am{U "~'			   (2)	 ’$³V "~' Am{U "H$'
(3)	 ’$³V "A' Am{U "H$'			   (4)	 {VÝhr "A' "~' Am{U H$
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131. Which of the following local government has maximum 45 members and minimum 15 members?
(1)	 Nagar Panchayat			   (2)	 Panchayat Samiti	
(3)	 Municipality			   (4)	 Gram Panchayat

132. Which of the following aspect, related to the Governor, is not correct?
(1)	 He is the constitutional head of the state.	
(2)	 He is not the executive head of the state.	
(3)	 He is appointed from the other state.	
(4)	 He is not included in the executive committee of the state.

133. Which of the following is not a fibrous substance?
(1)	 Bajra			   (2)	 Leafy Vegetables	
(3)	 Bran			   (4)	 Margarin

134. The group "Pench, Navegaon and Chandoli" is related to which of the following?
(1)	 Protected forests (Sharanvane)	 (2)	 Sanctuaries	
(3)	 National Parks			   (4)	 Biodiversity Parks

135. Which of the following Adivasi tribes are found in Sahyadri Mountaineous areas of Maharashtra?
(1)	 Korku-Warli	 (2)	 Warli-Kokana	 (3)	 Kokana-Bhil	 (4)	 Bhil-Korku

136. Which of the following is not a characteristic of "Black Soil"? 
(1)	 This soil is formed by the weathering of basalt rocks.	
(2)	� The black colour of the soil is due to presence of titanic ferrous and magnetite elements.	
(3)	 The capacity of water retention is more.	
(4)	 This soil is also called as "Regur Soil" or "Alluvial Soil".

137. Considering the irrigation area in Maharashtra which of the following pair of irrigation means is 
the pair of most used means and least used means of irrigation?
(1)	 Canal - Lift	 (2)	 Canal - Tank	 (3)	 Well - Lift	 (4)	 Well - Tank

138. Which of the following is a characteristic of latitudes?
(1)	 Parallel to each other			   (2)	 Similar Lengths	
(3)	 Prime meridian means largest parallel	 (4)	 0° latitude means equator.

139. Which of the following is recognised by the name of "Maidan"?
(1)	 Southern part of Chattisgarh and south-west part of Odisha	
(2)	 Central part of Chattisgarh and western part of Odisha	
(3)	 Eastern Plateaus	
(4)	 Karnataka Plateau

140. Which of the following are related to "Intensive Agriculture" a type of farming?
A)	 Farming done in vast area where only one type of crop is taken.
B)	 Maximum use of human and animal labour.
C)	 Limited mechanisation. 
(1)	 Only A and B			   (2)	 Only B and C	
(3)	 Only A and C			   (4)	 A, B and C all
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141. JwOamVÀ¶m gr‘oer bmJyZ (g§b½Z) ‘hmamîQ´>mVrb {Oëøm§Mm JQ> H$moUVm?
(1)	 Z§Xþa~ma-Ywio	 (2)	 OiJmd-Zm{eH$	 (3)	 R>mUo-nmbKa	 (4)	 R>mUo-‘w§~B©

142. gd©gmYmaUnUo "‘mgo' (‘Ëñ¶dJ©) ¶m§À¶mer {dg§JV ~m~ Imbrb n¶m©¶m§n¡H$s H$moUVr?
(1)	 H$mhr ‘mgo XrKm©¶y AgVmV.	
(2)	 H$mhr ‘mgo Aënm¶wfr AgVmV.
(3)	 öX¶ VrZ H$ßß¶m§Zr ~Zbobo AgVo.	
(4)	 earamMo Vmn‘mZ AmOy~mOyÀ¶m Vmn‘mZmZwgma ~XbVo.

143. g§nH©$OÝ¶ amoJm§Mm JQ> Imbrb n¶m©¶m§n¡H$s H$moUVm?
(1)	 A°{Z{‘¶m, ñH$ìhu, JOH$U©			  (2)	 Zm¶Q>m, Bg~, ¶wao{‘¶m
(3)	 Iê$O, Zm¶Q>m, JbJ§S>			   (4)	 Iê$O, Bg~, JOH$U©

144. ‘oboë¶m OZmdam§À¶m hmS>m§nmgyZ "~moZ‘rb' ¶m ZmdmZo àM{bV H$m¶ Amho?
(1)	 IV		  (2)	 {OboQ>rZ	 (3)	 H$sQ>H$ZmeHo$	 (4)	 Am¡fY

145. àm‘w»¶mZo ‘mZdr earamÀ¶m ~m§YUrg Amdí¶H$ AgUmar nmofH$Ðì¶o H$moUË¶m KQ>H$mnmgyZ {‘iVmV?
(1)	 {nîQ>‘¶ nXmW©	 (2)	 ‘oX	 (3)	 OrdZgËËdo	 (4)	 à{WZo

146. earamdarb OI‘oÀ¶m OmJr hmoUmam a³VñÌmd JmoR>{dÊ¶mMo H$m¶© H$moU H$aVo?
(1)	 a³VHo${eH$m	 (2)	 a³Vq~~rH$m	 (3)	 a³Vb{gH$m	 (4)	 a³VJ«m{gH$m

147. n¥Ïdrdê$Z "AmH$me {Zù¶m a§JmMo {XgVo' ¶mbm H$maUr^yV R>aUmam/R>aUmao KQ>H$ Imbrbn¡H$s H$moUVm/H$moUVo 
A)	 dmVmdaU
~)	 àH$memMo {d{H$aU 
(1)	 ’$³V "A'			   (2)	 ’$³V "~'
(3)	 XmoÝhr "A' Am{U "~'			   (4)	 "A' Am{U "~' XmoÝhr Zmhr.

148. gd©gmYmaUnUo YmVy ................. ZgVmV.
(1)	 VÝ¶		  (2)	 dY©Zr¶	 (3)	 {R>gyi	 (4)	 gwdmhH$

149. Imbrb "H$maU' d "n[aUm‘' ¶m§Mm AW© bjmV KoD$Z ¶mo½¶ n¶m©¶ {ZdS>m.
H$maU: A) nmUr ho g§¶wJ Amho.
n[aUm‘: ~) nmÊ¶mMo JwUY‘© ho hm¶S´>moOZ d Am°³grOZ ¶m§À¶m JwUY‘m©nojm {^ÝZ AmhoV.
(1)	 ’$³V "A' ¶mo½¶			   (2)	 ’$³V "~' ¶mo½¶
(3)	 XmoÝhr "A' Am{U "~' ¶mo½¶		  (4)	 "A' Am{U "~' XmoÝhr A¶mo½¶

150. n[ag§ñWoVrb "{dKQ>H$' hm KQ>H$ AÝZgmIir‘Ü¶o H$moUVr {H«$¶m H$aÊ¶mMo H$m‘ H$aVmV?
(1)	 gmË‘rH$aU	 (2)	 g§H«$‘U	 (3)	 CËgO©Z	 (4)	 agmH$f©U
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141. Which of the following group of districts of Maharashtra lies adjacent to Gujarat border?
(1)	 Nandurbar - Dhule			   (2)	 Jalgaon - Nashik	
(3)	 Thane - Palghar			   (4)	 Thane - Mumbai

142. Which of the following is not a characteristic of Pisces class?
(1)	 Some fish have longer life span.
(2)	 Some fish have shorter life span.	
(3)	 Their heart is made of three chambers.	
(4)	 Body temperature changes according to the temperature of surrounding.

143. Which of the following is a group of contagious diseases?
(1)	 Anaemia, Scurvy, Ringworm	 (2)	 Ringworm, Eczema, Uremia	
(3)	 Scabies, Ringworm, Goitre		  (4)	 Scabies, Eczema, Ringworm

144. What is 'Bone Meal' made from bones of dead animals?
(1)	 Fertilizer	 (2)	 Gelatin	 (3)	 Insecticide	 (4)	 Medicine

145. Which of the following nutrients are necessary for body building of humans?
(1)	 Carbohydrates	 (2)	 Fats	 (3)	 Vitamins	 (4)	 Proteins

146. Which of the following helps in the process of clotting of blood in case of wounds on the body?
(1)	 Blood capillaries			   (2)	 Blood platelets	
(3)	 Lymph vessels			   (4)	 Blood corpuscle

147. The sky appears blue when we observe from the earth. Which of the following factor is responsible 
for this phenomenon?
A) Atmosphere
B) Scattering of light
(1)	 Only A correct			   (2)	 Only B correct	
(3)	 Both A and B correct			   (4)	 Both A and B incorrect

148. Generally non metals are not  .
(1)	 Ductile			   (2)	 Maleable 	
(3)	 Brittle			   (4)	 Good conductors

149. Following are given reason (cause) and effect statements. Which of the following alternative is 
correct considering the statements?
Reason : A) Water is a compound
Effect  : B) �The properties of water are different from the properties of hydrogen and oxygen.
(1)	 Only A correct			   (2)	 Only B correct	
(3)	 Both A and B correct			   (4)	 Both A and B incorrect

150. The 'decomposers' a factor of the ecosystem perform which of the following function?
(1)	 Assimilation	 (2)	 Transfer	 (3)	 Excretion	 (4)	 Osmosis
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